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KVS DIRECT RECRUITMENT EXAMINATIONS

(Candidate Resbonse Sheet)

Roll Number

Name of the Candidate S

Examination Name KVS PRT 26 FEB SH1

Exam Date & Time 26-02-2023 09:00:00

Subject : GE_Q01-Q10_PRT26FEBSH1
Question ID:- 1

Rearrange the parts in correct order to make a meaningful sentence.
(a) who first said

(b) it was Copernicus

(€) round the sun

(d) that the earth revolves

(1) (b), (@), (d), ()
(2 (9) (a), (b), (d)
(3)  (d) (a), (b), ()
(4)  (a), (b). (c), (d)
Options:-

«1, Option ID :- 1,
« 2, Option ID :- 2,
« 3, Option ID :- 3,

« 4, Option ID :- 4,
Answer Given:- 1, Option ID : -1

Question ID:- 2

Change the following sentence from Active Voice to Passive Voice.
Do you expect help from your friends ?

(1) Help from your friends is expected by you ?

(2) Is help from your friends expected by you ?

(3) Are your friends expected to help you ?
(4)

Is help expected by you from your friends.

Options:-

=1, Option ID :- 5,
» 2, Option ID :- 6,
« 3, Option ID :- 7,

» 4, Option ID :- 8,
Answer Given:- 2, Option ID : -6

Question ID:- 3
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Fill in the blank with the correct preposition.

He is physically fit and not averse hard work.
(1) of

(2) to

(3) from

(4) towards

Options:-

=1, Option ID :- 9,

= 2, Option ID :- 10,
= 3, Option ID :- 11,

= 4, Option ID :- 12,
Answer Given:- 1, Option ID : -9

Question ID:- 4

Choose the correct tense form of the underlined expression from the given options.
The traveller had visited many towns before he finally returned home.

(1) Past Indefinite
(2) Past Continuous
(

(

~——

3) Past Perfect
4) Past Perfect Continuous

N—

Options:-

=1, Option ID :- 13,
= 2, Option ID :- 14,
= 3, Option ID :- 15,

= 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5

Change the following sentence from Direct Speech into Indirect Speech.
Rakesh said to me, ‘Will you give me your friend’s mobile number?’

(1) Rakesh asked me if he would give me his friend’s mobile number.
(2) Rakesh asked me if [ would give him my friend’s mobile number ?
(8) Rakesh asked me to give him his friend’s mobile number.

(4) Rakesh asked me If [ would give him my friend’s mobile number.

Options:-

=1, Option ID :- 17,
= 2, Option ID :- 18,
=« 3, Option ID :- 19,

= 4, Option ID :- 20,
Answer Given:- 4, Option ID : -20

Question ID:- 6

Identify the part which contains an error.
‘The Canterbury Tales” / are a great work / of literary merit / in English

(1) (2) 3) ()

2 of 88 07-03-2023. 22:53



Response Sheet

Options:-

=1, Option ID :- 21,
= 2, Option ID :- 22,
= 3, Option ID :- 23,

= 4, Option ID :- 24,
Answer Given:- 2, Option ID : -22
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Question ID:- 7

Choose the word nearest in meaning to the given word.
TEMPORAL
(1)  worldly

(2) spiritual

(8) practical

(4) crude
Options:-

=1, Option ID :- 25,
= 2, Option ID :- 26,
=« 3, Option ID :- 27,

= 4, Option ID :- 28,
Answer Given:- 4, Option ID : -28

Question ID:- 8

Choose the word opposite in meaning to the given word.

FELICITY

(1) jubilation
(2) pessimism
(3) sorrow

(4) weakness

Options:-

=1, Option ID :- 29,
= 2, Option ID :- 30,
= 3, Option ID :- 31,

= 4, Option ID :- 32,
Answer Given:- 2, Option ID : -30

Question ID:- 9

Identify the part of speech of the underlined word.
The jury pronounced the convict guilty.

(I) Pronoun
(2) Adverb
(3) Noun

(4) Adjective

Options:-

=1, Option ID :- 33,
= 2, Option ID :- 34,
= 3, Option ID :- 35,
= 4, Option ID :- 36,
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Answer Given:- 3, Option ID : -35

Question ID:- 10

Identify the underlined clause in the given sentence.

King Akbar, who ruled the country for many years , was a just and noble king.
1)  Principal Clause

2) Noun Clause

(

(

(3) Adverb Clause
(4) Adjective Clause

Options:-

=1, Option ID :- 37,
= 2, Option ID :- 38,
= 3, Option ID :- 39,

= 4, Option ID :- 40,
Answer Given:- 4, Option ID : -40

Subject : GH_Q11-Q20_PRT26FEBSH1

Question ID:- 11

Frafafag e & @ryds ggHt IHR UG 799 1§l S| ifSie |
T w1 Fid H A 99 8 T @ Fhad e @ fAadt 81 i su% fawda s % Wy
FEE A1 SR AAEF 3 A 1 797 fAfv=d g
g9 Uh T S & S Sad = 99 UF ¥4 § R Sl ¥ ) 9Y-UEd 9 F Si9d A ¥9 99 B 9e
Ed 1
awaa fean @ faad € -
(1) R¥s <7 gleid 9 84 4
(2) T % T g9 FA 4
(3) guHFd A
(4) 3HRY % Wiy gREAa 4

Options:-

=1, Option ID :- 41,
= 2, Option ID :- 42,
= 3, Option ID :- 43,

= 4, Option ID :- 44,
Answer Given:- 2, Option ID : -42

Question ID:- 12
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Frafafad e &1 S\AYEs Jgh W ARG 79 H1 9 W S

T 1 ged W afg 99 g 9 o g% fvaa € faad €)1 2 3a% fawda s & oy
FUEAaT 3R AT 3 S @ 9o fAfv=a ®)

g9 U TH IS § S Sfad 1 99 TE oA A R Qdt §) 1g-ua 9% & ofigd § 6 99 W mew
2@l g

FOE T 3 HIAH F

(1) T agdt @

(2) FHR S §

(3) UAAEMIR

(4) H=fia g
Options:-

=1, Option ID :- 45,
= 2, Option ID :- 46,
= 3, Option ID :- 47,

= 4, Option ID :- 48,
Answer Given:- 3, Option ID : -47

Question ID:- 13

frmfafad ey = SRgEs TRt TR YRE T 1 e L Qe |

T ) Fd A g9 I8 S @ nda g 8 fAadt 81 S 35k fawia o & Ty
FEglad AR e 1 S @ o Ffved €

g1 Tk VH IS & S S 1 99 T oH | W <t &1 ug-ual) 9% F 94 § 39 99 W He

EdE |

e A a9 R T A W aWm
(1) A4

(2) ©HEE

(3) %=

(4) gHIRH
Options:-

=1, Option ID :- 49,
= 2, Option ID :- 50,
=« 3, Option ID :- 51,

= 4, Option ID :- 52,
Answer Given:- 3, Option ID : -51

Question ID:- 14
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Frefafad e &) ErAqEs gt W MR J99 1 g I S

TS 1 ged W afg 99 g 9 o gk g € faadt €)1 2 39 fawda s & oy
U SR ATTEA 37 A 1 gaq FAfv=a g

g9 T UH Yol S Sfigq ) A9 TE 99 J 9T St T) UY-ue 9% h o9 § ¥9 99 H Hew
enkd
‘g 3 Ufga 9 vz foer’ are § waifed wet R ©

(1) =4
(2) &M
(3) YA
(4) AUEH
Options:-

=1, Option ID :- 53,
= 2, Option ID :- 54,
=« 3, Option ID :- 55,

= 4, Option ID :- 56,
Answer Given:- 2, Option ID : -54

Question ID:- 15

Freafafad e 1 @AgES ggRt SHR AHfRd 724 &1 J% 1 )

T # gerd § afe 99 € WY Ot Ihed fAvaa € faad €)1 3 39 favda i & @y
FOgiAd AR ATASR 371 S < gaq fAfv=a §)

79 U O G & S ofied ) 99w o9 A W7 St $1 Ig-ush % % o9 § o9 99 % Tew
REd R

T % YR W FHTI TRK-TH T

(1) dAIR-deFan

(2) TH

(3) -9

(4) HewA-Hgwil
Options:-

=1, Option ID :- 57,
= 2, Option ID :- 58,
=« 3, Option ID :- 59,

= 4, Option ID :- 60,
Answer Given:- 4, Option ID : -60

Question ID:- 16

frfafad faciard s=-gdi 4 swmd §

(1) 3ga-faw

(2) TFPa-ufaFa
(3) IE-faE
(4) oyfaviE-faura
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Options:-

=1, Option ID :- 61,
= 2, Option ID :- 62,
= 3, Option ID :- 63,

= 4, Option ID :- 64,
Answer Given:- 4, Option ID : -64

https://kvsexam26feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 17

"3T9 GHA FW 9 B A F (@ifed Ie H HIAW

(1) geAaT=H
) foEEs
3) AfTgHaTEH

(4) THe=zarEs

Options:-

=1, Option ID :- 65,
= 2, Option ID :- 66,
= 3, Option ID :- 67,

= 4, Option ID :- 68,
Answer Given:- 1, Option ID : -65

Question ID:- 18

ol & SR W eTETd e g

(1) FHR-FIRI

(2) <E-gfEd
(3) TEU-THN
(4 F-HH
Options:-

=1, Option ID :- 69,
= 2, Option ID :- 70,
= 3, Option ID :- 71,

= 4, Option ID :- 72,
Answer Given:- 3, Option ID : -71

Question ID:- 19

‘A1 AT’ HEa w1 Y 3y B

(1) == RS

(2) A &M

(3) gd uHIa F
(4) FooIdl HTAl
Options:-

=1, Option ID :- 73,
= 2, Option ID :- 74,
= 3, Option ID :- 75,
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= 4, Option ID :- 76,
Answer Given:-4, OptionID : -76

Question ID:- 20

‘qrens’ e a1 yEigE) s Al §

(1) 3=
(2)
(3) dEm
(4) died
Options:-

=1, OptionID :- 77,
= 2, OptionID :- 78,
= 3, Option ID :- 79,

= 4, Option ID :- 80,
Answer Given:-1, OptionID : -77

Subject : GA_Q21-Q30_PRT26FEBSH1

Question ID:- 21

According to the Indian counstitution who has the power to nonr* te member to the Legislative
Council of states ?

(1) President of India

(2) Governor of the State

(3) Chairman of the State Legislative Council

(4) Speaker of the State Legislative Assembly

TR % HiGHA & FFER A F faer gfesi § @<l @) g9 33 #) wfad fqas w82
(1) od < asgufd

(2) I[F H TRAA

(3) T faum wRwg W |y (FaHA)
(4) T faum |1 &+ Ay ()
Options:-

=1, OptionID :- 81,
= 2, Option ID :- 82,
= 3, Option ID :- 83,

= 4, Option ID :- 84,
Answer Given:- 1, OptionID : -81

Question ID:- 22

Which of the following Union Teritories in India has the highest total Fertility Rate (children per
women) according to the National Family Health Survey 2019-217

(1) Chendigarh

(2) Andaman and Nicobar
(3) Puduchery

(4) Lakshadweep
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T IREAR e qderm 2019-21 3 AR, 9”4 % f[A=fafad 9 4 59 99 009 99 4 3 5971

(wfd qfeen, s=1) gaifus 2 ?
(1) =R

(2) 3fevE 3R [FER
(3 g

(4) d&EY

Options:-

=1, Option ID :- 85,
= 2, Option ID :- 86,
= 3, Option ID :- 87,

= 4, Option ID :- 88,
Answer Given:- 1, Option ID : -85

Question ID:- 23

The crash of the Wall Street Exchange was the advent of which ef the following world events, in
histery?

(1) Gulf War I

2 American Civil War

(2)
(3) The Great Economic Depression
(4) The Oil Crisis

sfaera d vy afvass 9241 H9 & YEIF aid EIe TS % vem 4 i\ 7 g3 ?
(1) & TSI

(2) 3 TE IS

(3) el memdl (] U2 gaht-ifaas fetem)
(4) d A Hh

Options:-

=1, Option ID :- 89,
» 2, Option ID :- 90,
= 3, Option ID :- 91,

= 4, Option ID :- 92,
Answer Given:- 3, Option ID : -91

Question ID:- 24

Which of the following in a Non- Metallic mineral?
(1) Mica

(2) Bauxite

(3) Manganese

(4) Gold
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fr=fafad 4 | #0 s R-ufas gfw 82

(1) 9%
(2) SiHIEe
(3) HANS
(4) HA
Options:-

=1, Option ID :- 93,
= 2, Option ID :- 94,
= 3, Option ID :- 95,

= 4, Option ID :- 96,
Answer Given:- 4, Option ID : -96

https://kvsexam26feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 25

statement :

field of human endeavour.
(2) Each awardee recieves rupees one crore.
(3) Annual awards is restricted to a maximum of three in a p ticular year.

suffix to the recipient’s name.

‘g @' feu 91 & e d fAefcf@d s w fa=ar Fifse 3l wad s &) vewr =it

=1, Option ID :- 97,
= 2, Option ID :- 98,
= 3, Option ID :- 99,

= 4, Option ID :- 100,
Answer Given:- 3, Option ID : -99

Consider the following statements regarding the ‘Bharat Ratna’ and identif the incorrect

(1) Itis awarded in recognition of excepti nal service/ performance of the highest order in any

(4) In accordance with Articlel8(1) of the Constitution the « war I cannot be used as prefix or

(1) 98 A fFar a3 fadw o =afa 3 Sope 991/ 98¥A & AR R 345 FE 5 fonm o

(2) THH R faoda 1 1 FAS ®IC - 14T T

(3) U Y sAfawar di7 oafeaell @1 78 §E geH foan s gl 81

(4) Hfaum & JFT=T 18(1) o HTUR AHIHA Al 3TU7 911 & ITHT HYA W & Y H 36 THA
=T JAT A H AHAE |

Options:-

Question ID:- 26

Who won the Best Male Athlete award in the 36" National games held in gujarat in 20227
(I) Sajan Prakash

(2) Aryan Panchal

(3) Anshul Kothari

(4) Devansh Parmar
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ad 2022 H I § gU 36 9 UET Well § a9 [6Y e & REhR fhad oftar?

(1) HISH gl
(2) A wiEA
(3) HYA He
(4) o9 WHR
Options:-

=1, Option ID :- 101,
= 2, Option ID :- 102,
= 3, Option ID :- 103,

= 4, Option ID :- 104,
Answer Given:- 2, Option ID : -102

Question ID:- 27

Which book\Title was awarded the Sahitya Akademi Bal Sahitya Puraskar 2022 in Odia ?
(1) Gapa Kalika

(2) Chhuinba Kia Chhun

(3) Kadhare Kadha: Phulare Phula

(4) Kolahala Na Halahala

femn ¥ aifee sred) =A@ aifecd g 2022 8 Jeqah/eis+ =l 4gH faar man?
(1) 79T shifereh]

(2) =gE fmm =g

(3) HTHR FeT; AN Fal

(4)  HIARIA A SABIAT

Options:-

=1, Option ID :- 105,
= 2, Option ID :- 106,
= 3, Option ID :- 107,

= 4, Option ID :- 108,
Answer Given:- 1, Option ID : -105

Question ID:- 28

Which of the following Ministries of the Government of India has launched 'Information, Monitoring,
Evaluation and Social Audit’ (I-MESA) scheme ?

(I) Ministry of Rural Development

(2) Ministry of Agriculture and Farmers Welfare
(3) Ministry of Panchayati Rajya

(4) Ministry of Social Justice and Empowerment
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Yd AR F T8 daiad gr g1, Fed, qeaisa sl amifes d9dan (EMESA) 191 I &1 %
8?2

(1) T o Ha@a

(2) Hfw iR fFEE F0 GG

(3) dwEd O A

(4) gmfas = iR sifyaifar gaes

Options:-

=1, Option ID :- 109,
= 2, Option ID :- 110,
= 3, Option ID :- 111,

= 4, Option ID :- 112,
Answer Given:- 4, Option ID : -112

Question ID:- 29

Which of the following statements correctly represent B-horizon or the middle ayer of the soil ?
(1)  Itis made up of small lumps of rocks with cracks and crevices

(2) Itis generally soft, porous and can retain more water

(3) It has lesser amount of humous but more of minerals generally harder and more compact
(4) Itis hard and difficult to dig with a spade

frefafad 9 A HA-T1 2 - ussd e a ) 59rq W B §8 w9 9 e sar g ?
(1) 98 92<E! % S1e fil § o &l § 3l sgd <Y aon fagdee &t € |

(2) ¥ SWAR W garm, fog are g § SR 1 U #1 uRy X gl

(3) 399 FH A E =qu¥ 91 ¥ fohg wie st 39 § ormdk W heR ol sifves gEeg )
(4) 98 HoR &t € 3R 38 S  @iel givehd gt ¥

Options:-

=1, Option ID :- 113,
= 2, Option ID :- 114,
= 3, Option ID :- 115,

= 4, Option ID :- 116,
Answer Given:- 2, Option ID : -114

Question ID:- 30

Which of the following processes is used to separate grain seeds from their stalks?
(I) Handpicking

(2) Threshing

(3)  Winnowing

(4) Sieving
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SIS F TE H ITHT 2SS Y e FA * fon form vfsan = v3@m fm s 82

(1) ™" g
(2) T &%
(3) TheH
(4) BIFHL
Options:-

=1, Option ID :- 117,
= 2, Option ID :- 118,
= 3, Option ID :- 119,

= 4, Option ID :- 120,
Answer Given:- 2, OptionID : -118

Subject : RA _Q31-Q35_PRT26FEBSH1

Question ID:- 31

How many odd numbers are there in the following number sequence which are immediately
preceeded and succeeded by even number ?

2362314412125 8¢6743

(1) 4
2 3
3) >
(4) 2

frfeafas gen w9 § T fFHat famm dend § fS9 gea ik o § 99 e o &2
23 1443121258674 3

Options:-

=1, Option ID :- 121,
= 2, Option ID :- 122,
= 3, Option ID :- 123,

= 4, Option ID :- 124,
Answer Given:- 1, OptionID : -121

Question ID:- 32

The front door of Rohit’s house faces the east. From the back door of his house, he walks straight
50 m, then turns to the right and walks "0 m. He turns towards left and walk 25 m. Finally, he
again turns towards left and stops after walking 70 m. Now, Rohit is in which direction from the
starting point ?

(1) North
(2) North-West
(3) South
(4) South-West
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Ufed & ¥ % AT &3aTS o 4 Y@ o) 3 1 98 3794 =2 fUsel q@s 4 50 Hid Higy 9ad g 3
gl 3T g 30 Wit Ted1 © 1 9% ATl iR qHAT § 3R 25 HieX Ieidl 81 5 U 98 [ ardfi $IR gua 8 3R
70 WY ST T ol & | 37, Afed T a7y fag A fra faan 6% 2

(1) 3IW
(2) IW-vfF=R
(3) =iwgm
(4) <feo-—yf=m

Options:-

=1, Option ID :- 125,
= 2, Option ID :- 126,
= 3, Option ID :- 127,

= 4, Option ID :- 128,
Answer Given:- 1, Option ID : -125

Question ID:- 33

Seven students I, Q, R, S5, T, U, V and W are itting in a line facing east ut not necessarily in the
same order.

'V’ is to the immediate left of ‘S” and to the immediate right of ‘Q". ‘P’ is on the immediate right of
'R'. ‘P and 'S’ have one student between them. ‘Q" and ‘T" have one student between them.
‘S’ and ‘U’ have two students betw en them. ‘W’ is at the north end.

Who is sitting at the south end ?

(1) P
2 U
3 T
4) S

HABHP, Q,R,S, T, U, V3RW yd 1 3iR §g &teh U ufad ¥ a2 ¥ fohg 3 3¢t v 9 &1 a3 ¥4
V', ‘S % UahgH a1 SR 9A‘Q’ F TheH gl SR B 1 P, ‘R’ F UahcH <l 3R €1 ‘P R ‘S’ & &9 Weh
FANREI'Q AT FIMTHEIF AR ‘S 3 U FTIF Y BT A T 1 ‘W’ I W 9fed & 27 & war
B

ufed & g d 3d § & d21 8 ?
Ln P

) U

@) T

4) S
Options:-

=1, Option ID :- 129,
= 2, Option ID :- 130,
= 3, Option ID :- 131,

= 4, Option ID :- 132,
Answer Given:- 3, Option ID : -131

Question ID:- 34
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Given below is a question followed by two statements numbered I and II each containing some
information. Decide which of the statement(s) i /are sufficient to answer the question.

Q What is the code for ‘life’ in the code language ?
1 In same code language, ‘we are friends’ is written as ‘Iti fer gou’.
II In same code language, ‘friends are life” is written as ‘gou Iti mrt’.

(1) The statement I alone is sufficient to answer the gquestion while statement II alone is not
sufficient.

(2) The statement II alone is sufficient to answer the question while statement I alone is not
sufficient.

(3) Both statements I and II together are ne essary to answer the question.
(4) Both statements I and II together are not sufficient to answer the question.

19w wea femn e @ s o1 < mem-1 2 few o foAd wtes § e siAed €1 E ¥ ) 3 fAvig
FIFSU fh 9 G/8 F94 999 H W ¢4 & fau e 2

.. 2 9T H life’ F fow FnF2 ¥ 2

HAT[:  IH H2 W9 H “we are friends’ H ‘1t fer gou’ & w9 Y foran S g )

HYF 11 : I $2 991 H ‘friends are life’ 1 ‘gou It mrt’ % &4 § forar s § |

(1) RUA-1 3(Hhel T HT IH A  foll w37 & Fofeh HUF-11 SFohel YA 7 3 |

(2)  FAA-II Fohe! WA H1 IR &4 & folw qafeg § =i wem-1 et T3 78 ¢

(3) HEA-1 3R I, 41 AT 994 &1 ITN &3 & AU A@ems §)

(4) A1 3R, A4 MR 99 A1 S| <A & e w3 78 ¥

Options:-

=1, Option ID :- 133,
= 2, Option ID :- 134,
» 3, Option ID :- 135,

= 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35
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In the diagram given below, circle ‘A’ represents industrious, circle ‘B’ represen optimistic, circle
‘C’ represents tax-payers and circle ‘D’ represents urban.

D
How many rural tax-payers are there who are neither industrious nor optimistic ?
1 9
(2) 11
(3) 15
(4) 18

= feu e s ) 99 A ufsHl, 99 B SemEiEl, 99 ‘C’ aErIst a1 99 D el il wfafifuae

TR ?
B
14
15 18
9
Al 19 8(12 1 C
16
1%
17
D
1 foha IrEior 1 HE-2rar € s A @ g € i T € mmerd) ?
(1) o
(2 11
3) 15
4) 18
Options:-

=1, Option ID :- 137,
= 2, Option ID :- 138,
= 3, Option ID :- 139,

= 4, Option ID :- 140,
Answer Given:- 2, OptionID : -138

Subject : CL_Q36-Q40_PRT26FEBSH1

Question ID:- 36

16 of 88 07-03-2023. 22:53



Response Sheet https://kvsexam26feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx...

Gravit Siya is planning to connect 15 office computer using Ethernet Cable. Which one of the
following devices should he use for the same ?

(1) Switch
2) B oster
3) HDMI Splitter
4) Repeater

ufefd fgan suiz Fad H1 44T Tk HAFT FH 15 FORA H FAGR K H AT S & 71 I 375
fau frafafaa § 9 f5a feasa &1 yam w@ afge ?

(1) T&3 (Switch)

(2) 9% (Booster)

(3) U= € Uy 3% et (HDMI Splitter)
(4) fURT (Repeater)

Options:-

=1, Option ID :- 141,
= 2, Option ID :- 142,
=« 3, Option ID :- 143,

= 4, Option ID :- 144,
Answer Given:- 3, Option ID : -143

Question ID:- 37

Which of the following ports is used to connect ethernet cable on a PC/Laptop ?

(1) RJ45
(2) USB
(3) HDMI
(4) VGA

et Tt HI/ATURTY W AT A | HAHE Hd o fC fhy 412 1 yam fran o & 2
(1) 3T S 45 (RJ45)

(2) g UH S (USB)

(3) ©= € wH 3. (HDMI)

(4) &t ST (VGA)

Options:-

=1, Option ID :- 145,
= 2, Option ID :- 146,
=« 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 3, Option ID : -147

Question ID:- 38
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Which of the following is the highest capacity of memory ?
(I) ExaByte

(2) MegaByte

(3) TeraByte

(4) GigaByte

frefafad 4 @ -3 367 awa gaifaes 82
(1) ExaByte

(2) MegaByte

(3) TeraByte

(4) GigaByte

Options:-

=1, Option ID :- 149,
= 2, Option ID :- 150,
= 3, Option ID :- 151,

= 4, Option ID :- 152,
Answer Given:- 1, Option ID : -149

Question ID:- 39

is not a file extension of a video file.

(1) mov

(2) avi

(3) mp4

(4) pdf

ferett =ifeall wEer #1 R fomr @ §1

(1) mov

(2) avi

(3) mp4

(4) pdf
Options:-

=1, Option ID :- 153,
= 2, Option ID :- 154,
= 3, Option ID :- 155,

= 4, Option ID :- 156,
Answer Given:- 4, Option ID : -156

Question ID:- 40

Which of the following is the orrect full form of VoIP ?
(1) Video over Internet Protocol

(2) Voice on Internet Protocol

(3) Voice over Internet Protocol

(4) Voice over Internetwork Prot col
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&Y oft 37 i (VoIP) 1 q0 §&l 919 #1 § ?
(1) difem e dee widiala

(2) 9TEH A e NARE

(3) 91FE AR 3T DA

(4) dEH MR F2TEH FidIHA

Options:-

=1, Option ID :- 157,
» 2, Option ID :- 158,
= 3, Option ID :- 159,

= 4, Option ID :- 160,
Answer Given:- 2, Option ID : -158

Subject : UL_Q41-Q55_PRT26FEBSH1

Question ID:- 41

Telling Truth by child comes under which domain ?
(1)  Social

(2) Physical

(3) Cognitive

(4) Moral

oA g 9 A feE <me § i & 2
(1) gHifs

(2) AWARH

(3) FHAEH

(4) Afd=
Options:-

=1, Option ID :- 161,
= 2, Option ID :- 162,
= 3, Option ID :- 163,

= 4, Option ID :- 164,
Answer Given:- 4, Option ID : -164

Question ID:- 42

Primary Socialising Agency for the children is

(1) Media
(2) School
(3) Family

(4) Play ground
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T & TAU wrafas qmisisior o3 S 9@ §?

(1) wHifem

2) fa=@E

(3) URaR

(4) A H HIA
Options:-

=1, Option ID :- 165,
= 2, Option ID :- 166,
= 3, Option ID :- 167,

= 4, Option ID :- 168,
Answer Given:- 3, Option ID : -167

Question ID:- 43

Which one of the following plays a vital role in educating the child after the school ?
(1) Teacher

(2) Media
(3) Home
(4) Family

feraiiera < qv=rd 91ish 1 fufed $3 § fA=fafaa § A gaifis gea gl Yfqs raa) &2

(1) R
(2) Hifea
(3) W
(4) YRar

Options:-

=1, Option ID :- 169,
= 2, Option ID :- 170,
= 3, Option ID :- 171,

= 4, Option ID :- 172,
Answer Given:- 2, Option ID : -170

Question ID:- 44

The term growth in child’s development is :
(1) Irreversible physical change

(2) Irreversible emotional change

(3) Reversible physical change

(4) Reversible emotional change
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T o fawE | gfig =1 3
(1) HAvfaad Wi wf@d
2)  Iyfaadt daeas aREd
3) widad wif@ fad

(
(
(4) gfdadi e gREd
Options:-

=1, Option ID :- 173,

= 2, Option ID :- 174,

= 3, Option ID :- 175,

= 4, Option ID :- 176,
Answer Given:- 3, Option ID : -175

https://kvsexam26feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 45

plays a key role in learning of the child.

(1) Emotion

(2) Growth

(3) Maturation

(4) Development

CISEE G Dotk I o e b L (Gl
(1) Ham

2 d9s

(3) uigsEA

(4) fawm

Options:-

=1, Option ID :- 177,
= 2, Option ID :- 178,
= 3, Option ID :- 179,

= 4, Option ID :- 180,
Answer Given:- 4, Option ID : -180

Question ID:- 46

To address Juvenile Problem the school should :

(1) Conduct sports and games frequently.

(2) Listen the child carefully.

(3) Arrange regular professional counselling in schools.
(4) Give responsibility to the child.
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forom goenedl & gium & foe faaes =it .

(1) WR-91 WeAhe A A ey

(2) AAS 1 AHAGEF G A0

(3) fomnedi § fa TR wuad sirifea &3 =fse
(4) =T i Faed givet Tfge

Options:-

=1, Option ID :- 181,
= 2, Option ID :- 182,
= 3, Option ID :- 183,

= 4, Option ID :- 184,
Answer Given:- 2, Option ID : -182

https://kvsexam26feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 47

Te educate a child, the family has to :
(1) Impart the values.

2) Ensure attendance in school.
Buy adequate number of books.
4) Ensure balanced diet.

s +1 fofya #3 & fau gfar =i :

(1) ¥ faem =

(2) fourea A ufefa gifaa w& afeo

(3) AW HE | gEeh |led] =y

(4) Hdfad 1R ghafv=d s =g
Options:-

=1, Option ID :- 185,
= 2, Option ID :- 186,
= 3, Option ID :- 187,

= 4, Option ID :- 188,
Answer Given:- 2, Option ID : -186

Question ID:- 48

(I) Emotional growth
2) Cognitive growth
Social growth

4) Physical growth
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T I hS Ta oo H gfg 6 o1 F1 ahd &2
(1) Hanas gfs

(2) JAEES gfg

(3) #mfsw gfg

(4) iR afg

Options:-

=1, Option ID :- 189,
= 2, Option ID :- 190,
= 3, Option ID :- 191,

= 4, Option ID :- 192,
Answer Given:- 4, Option ID : -192

https://kvsexam26feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 49

What is Phonology ?
(I) Creating the potential of touch sensors.

(2) Creating the sounds of speech in early childhood.

(3) Hearing sensation developed in child.
(4) Smell re eptors in childhood.

@ oA g ?

(1) Ta9f GG ) &AHA AR AT

(2) SIRAF SIAH@ § aF AT TR HET
(3) o ¥ faswfag gam d3d

(4) ST H wro A

Options:-

=1, Option ID :- 193,
= 2, Option ID :- 194,
= 3, Option ID :- 195,

= 4, Option ID :- 196,
Answer Given:- 2, Option ID : -194

Question ID:- 50

Imagination power increases among :
(1) Adolescents

(2) Adults

(3) Children

(4) Senior citizens
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¥ woud v gd 2

(1) el

(2) TR

(3) T

(4) afts Arifsi
Options:-

=1, Option ID :- 197,
= 2, Option ID :- 198,
= 3, Option ID :- 199,

= 4, Option ID :- 200,
Answer Given:- 1, Option ID : -197

Question ID:- 51

To address an adolescent child in class the teacher has to
(1) Reprimand

(2) Fix responsibility

(3) Do moral policing

(4) Listen to them actively

Fe H FHe &) qHen # 99T K & e e i

(1) ST w3 =fen
(2) R 99 % 9fEg
(3) Afdw Fgaw et =g

(4) 3% g T F g1 =1fey

Options:-

=1, Option ID :- 201,
» 2, Option ID :- 202,
= 3, Option ID :- 203,

= 4, Option ID :- 204,
Answer Given:- 4, Option ID : -204

Question ID:- 52

The role of the school in educating the child is :
(1) To promote discipline.

(2) To conduct exam and declaring the result.
(3) Transformation of the child.

(4) To teach well all subjects.
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A 1 Toen § faeag &1 e e €2

(1) HIEA H FGAT MY

(2) v AfSE S i uftons =riwa s
(3) TAH H FIAIT HAT

(4) |l faug wEl 0 9 gl

Options:-

=1, Option ID :- 205,

= 2, Option ID :- 206,

= 3, Option ID :- 207,

= 4, Option ID :- 208,
Answer Given:- 3, Option ID : -207

Question ID:- 53

is not a sodial skill among the children.
1) Showing affection to a friend
2) Distributing birthday sweets
3) F od sharing with peers

(
(
(
(

4) Playing with friends

- SIAh] & 7 HIfN® Sod [q8l 2

(1) 53 & T & weiva &
(2) Hfeaq R fegar st
(3) wRR & @ WIS |IE HE
(4) Tl < |y @aA

Options:-

=1, Option ID :- 209,
= 2, Option ID :- 210,
= 3, Option ID :- 211,

= 4, Option ID :- 212,
Answer Given:- 2, Option ID : -210

Question ID:- 54

Which one of the following example could be related to cognitive learning of the child ?
(1) Crying

(2) Exploring types of plants in garden.

(3) Singing

(4) Danadang
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faefafed 9 @ :F-91 B 9dF & FHEF Ay 9 gag €2

()
(2) o= H el & YR SE
(3) A
(4) T AT
Options:-

=1, Option ID :- 213,
= 2, Option ID :- 214,
= 3, Option ID :- 215,

= 4, Option ID :- 216,
Answer Given:- 2, Option ID : -214

Question ID:- 55

What could be the major challenge to tackle adolescents in school ?
(1) Low attention

(2) Restlessness

(3) Aggression

(4) High degree of wisdom

foenea 4 feeik § fAaed § vy gH1d) 1 8 ahd) 82
(1) 9 =H

(2) SFERA

(3)  SHIhRTHeRAT
(4) 3o HEATHIE

~

Options:-

=1, Option ID :- 217,
= 2, Option ID :- 218,
= 3, Option ID :- 219,

= 4, Option ID :- 220,
Answer Given:- 4, Option ID : -220

Subject : UTL_Q56-Q70_PRT26FEBSH1

Question ID:- 56

Which of the following statements is not true about the role played by the curriculum ?

() Cuwriculum forms the basis for a contract among students, teachers and affiliating
organisations.

(2) Curriculum i not a legal document.

(3) Curriculum provides for attainable standards.

(4) Cuwriculum serves as basis for establishing equivalence.
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Tieg=al @ Yfae & R H Fefafed § 4 FF-W ®uA w8 @l 82

(1) wiga=al 36, syemyHi 3l Heiftd §1edl & di9 Th T H SR B
2) uigEgal s fafys c@es & 2

(3) UI&HHEl ATd HEA® YSH HA B

(4) U@ goad ©ifud ST & UH FER F

Options:-

=1, Option ID :- 221,
= 2, Option ID :- 222,
= 3, Option ID :- 223,

= 4, Option ID :- 224,
Answer Given:- 1, Option ID : -221

Question ID:- 57

Which one of the following is not a responsibility expected of a teacher in ‘Assessment of
Learning’ ?

(1) Ensuring that the objectives of assessment task are clearly understeod by students

(2) Collecting sufficient evidence to base the decisions

(3) Allowing unlimited time for completion of task

(4) Being sensitive to the challenges faced by students

‘i 1 ke W fasifafaa § @ 9 AT i Th fRgER) A6t Sl o gehd) €2
(1) =15 gffeaa & R B 3 Shed ®1d & RYT A TR &9 4 997 foen @
(2) fAvf & oTUR 3 WA WEH THA HAl

() w0 1 R B 3 o s

(4)  foenfeai & qua s @ g & wfd ddcaeia e

Options:-

=1, Option ID :- 225,
= 2, Option ID :- 226,
= 3, Option ID :- 227,

= 4, Option ID :- 228,
Answer Given:- 3, Option ID : -227

Question ID:- 58

Which of the following statements is incorrect ?

(1) Competency is a skill performed to a specific standard under specific conditions.
(2) Competency is a clearly defined measurable activity.

(3) Competencies lack in communicability.

(4) Competency refer to essential skill, Knowledge to be demonstrated in real world tasks.
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Frafafad 5 4 #13-91 27 |3 A3 8 2

(1) TeIaT Ush e o ot fafere frafasi § fafeore g &g fsufea foar s &1
(2) <dlUH W &Y § qfisfud /199 5 e g

(3) <Rl § Fhuofaar 1 svE g ¥

(4) < adfas afvas w4 yqR fvn S0 aren stfard Stee, 39 ')

Options:-

=1, Option ID :- 229,
= 2, Option ID :- 230,
= 3, Option ID :- 231,

= 4, Option ID :- 232,
Answer Given:- 2, Option ID : -230

Question ID:- 59

Which one of the following is not a phase of experiential learning ?
(I) Previous knowledge

(2) Reflective observation

(3)  Abstract conceptualization

(4) Actve experimentation

Frafafga 9 & o sguaics SRy & o =0 =48 8 2

() A

(2) feAsiE steei
(3) Hd HIHAFRI
(4) 4fswa wm
Options:-

=1, Option ID :- 233,
= 2, Option ID :- 234,
= 3, Option ID :- 235,

= 4, Option ID :- 236,
Answer Given:- 3, Option ID : -235

Question ID:- 60

If the student seems to be fatigued from the mental work, the teacher should :
(1)  decrease the amount of work she/he has to do.

(2) provide her him with greater variety of tasks.

(3) increase the attractiveness of the rewards to be attained on continuing.
(

4) encourage her/him to continue persistently.
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7fg faenfed mafas +rd 9 a5 gen udia & @t 3eaysh H F1 FA 9k ?
(1) 3% g0 fohu A a1a &/ &1 31 ) 92

(2) 39 3AF YFHR $ HH &A1

(3) M I T W YA fFU A aret qEaR & snskuEdl § gig
(4) Faenf¥ F1 eenar wm F g Denfed FAT

Options:-

=1, Option ID :- 237,
= 2, Option ID :- 238,
= 3, Option ID :- 239,

= 4, Option ID :- 240,
Answer Given:- 4, Option ID : -240

Question ID:- 61

Which one of the following is not based on constructivist approach ?

(I) Learner’s previous knowledge plays an important role in the construction of knowledge.
(2) A learner’s strong memory power is the basis of onstruction of knowledge.

(3) Interactive activities help onstruction of knowledge.

(4) Learning is an active meaning making proces .

frmfafaa 8 4 @ GEaEd UM W i 781 8 2

(1) sifermsal & 5 99 99 5 fFEio § seaqot yfam Fyma 8
(2) SFEHAT H) Foed TR A FH FH0 A SR B

(3) wiwenfeh-fRa FHrwan A § wgmar awd E)

(4) afirm v afra s fe@d are giwm §)

Options:-

=1, Option ID :- 241,
= 2, Option ID :- 242,
= 3, Option ID :- 243,

= 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242

Question ID:- 62

Identify the correct statement :

(1) Formative Assessment utilises the most traditional assessment methods of evaluating student’s
work.

(2) Formative Assessment’ results are used for ranking the students.

(3) Formative Assessment recognises the need for students to be able to assess themselves and
understand how to improve.

(4) Formative Assessment encourages extrinsic motivation.
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&Y HeH & TgaA wifee
(1) T@AHS Tehaid 4 faenf¥l & Sl &1 qeaisd HH # Faifus weRrr geaisd fafud & gmm
ERIECISIES

(2) TEARES AT & 9ot 1 ydm 3 A G <d H fr s # )

(3) TEAHS HAA BE H1 AETHAH F] TG HAT ¢ ANl o WF H] FHeA F Goh 3 I8 q9
Hoh T 0 ¥R UR & 2|

(4) FENHF A AEd AR F1 DiwEd A 7

Options:-

=1, Option ID :- 245,
= 2, Option ID :- 246,
= 3, Option ID :- 247,

= 4, Option ID :- 248,
Answer Given:- 3, Option ID : -247

Question ID:- 63

Which one of the following is not a feature of continuous and comprehensive evaluation ?
(1) It makes teaching-learning a child centred activity.

(2) It helps redudng learning gaps to a great extent.

(3) Includes both scholastic and co-scholastic aspects of students learning.

(4) Itlay emphasis on memorisation of basic concepts.

fifafad § § - §dd 3R S9H geAisd =l T fauudr 481 8 ?
(1) ge fasm-afirm =1 v se-hiwa fovar 5@ §

(2) % ARTH-3HI HI HEI T2 dh HH HH A HAT HE ¢ |

(3) 389 9l % R 3k ek qen we ek, 1 e wfea 2
(4) F8 A dheaAiH] hl A FH WA odl 8|

Options:-

=1, Option ID :- 249,
= 2, Option ID :- 250,
= 3, Option ID :- 251,

= 4, Option ID :- 252,
Answer Given:- 4, Option ID : -252

Question ID:- 64

Which one of the following is not a characteristic of a good teaching-learning material ?
(1) Familarity

(2) Attractiveness

(3) Single usage

(4) Novelty
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Freafafad § 4 71w o1=8 fagu-ifipm gt ) ue fadad 38 &2

(1) Yfagd

(2) ARy

(3) A TR

(4) st
Options:-

=1, Option ID :- 253,
= 2, Option ID :- 254,
= 3, Option ID :- 255,

= 4, Option ID :- 256,
Answer Given:- 3, Option ID : -255

Question ID:- 65

Which one of the following is not a characteristi of a goed lesson plan ?
(1) Objective based

(2) Comprehensiveness

(3) Inflexibility

(4) Implementability

frfafad § @ ot =) TSl &t o A& & ?

(1) 3I2eH 3nerfead

(2) =AY

(3) TR-@HamA

(4) Eifad feg S &) g
Options:-

=1, Option ID :- 257,
= 2, Option ID :- 258,
= 3, Option ID :- 259,

= 4, Option ID :- 260,
Answer Given:- 3, Option ID : -259

Question ID:- 66

Which one of the following is not a characteristic of teacher centred approach ?
(1) The students are writing down dictation given by the teacher.

(2) The students are doing mass drill in the field.

(3) The studen are memeorising multiplication tables by rote.

(4) The students are developing different models using clay and paper in groups.

31 of 88 07-03-2023. 22:53



Response Sheet https://kvsexam26feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx...

Freafafed | 9 @ swags Ffgd SurTs i U fadisd 487 8 2

(1) ferent™ senves g w@E T S| W g ® §)

(2) foenf¥ &= 4§ sl S8 F @ )

(3) faenfd werd s e IR MR T

(4) foenfd gg § ) ol e 1 WM Ak oFF Higd AN w® B

Options:-

=1, Option ID :- 261,
= 2, Option ID :- 262,
= 3, Option ID :- 263,

= 4, Option ID :- 264,
Answer Given:- 3, Option ID : -263

Question ID:- 67

Recording and Reporting of students’ learning progress is beneficial for planners and administrators

(1) darify the objectives of school program.
(2) improve class management.

(3) monitor the quality of education.

(4) advise better use of TLMs.

faenfei =61 aiftrm yofa =t Renre e 3R Su=ht Uk & A Fmiarst 9 gendant ¥g S9aeh €
(1) faads rfwy - e A T FH & fag

(2) N YWEA H GUR HA & faw

(3) Taen =1 quEmn wi AR % fau

(4) <1 UA UH H A5 YA I Bl ARG 24 & fAC

Options:-

=1, Option ID :- 265,
= 2, Option ID :- 266,
= 3, Option ID :- 267,

= 4, Option ID :- 268,
Answer Given:- 4, Option ID : -268

Question ID:- 68

Which of the following statements is not true ?
(I)  Multilevel teaching is related with Monograde situation.
(2) A multigrade teacher faces many challenges.

(3) Multigrade teaching is not confined to India. Itis seen in developed as wella under developed
countries.

(4) Multigrade teaching cannot be made effective by appropriate seating arrangement.
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Frfafad § 9 FF-T1 oA T8 8 72

(1) ag&aa fem o1 Gy oy fefa @ 21

(2) UF Sghald ALY 3 Al S JHAT Bl §

(3) ewea foem wRa o= Hifua 73 &, 7 fowfaa ok fammeia i ¥ off fger <a 2
(4) w31 H ITYF FTEN g Tgaheia ferer F gae A€ S S Hehan g

Options:-

=1, Option ID :- 269,
= 2, Option ID :- 270,
= 3, Option ID :- 271,

= 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272

Question ID:- 69

Which one of the following is not a characteristic of Discovery method ?

(1) Each child is made to feel responsible for finding out something for herseif /himself.

(2) As many questions as possible should be allowed to arise from children’s own observations.
(3) Students cannot seek guidance from the teacher.

(4) Each child tries to acquire information about the problem from different sources.

frafafaa 5 4 aa @ =1 3 fafy &1 vk fadsar 48 €2

(1) Yo SIcs & 379 fAv $8 @ed 8g MEER 9egd T Sidl 8

(2) WTH F @ F FAFT J FATHNG STUHTYR Y 9 814 I HFHA § =0 |
(3) B JAYH § Arfes &1 9 T8 X Hhd B |

(4) WoIh aeTs fafy= wdl § 9Eem % o H SAB 9T B B GIS HAT § |

Options:-

=1, Option ID :- 273,
= 2, Option ID :- 274,
= 3, Option ID :- 275,

= 4, Option ID :- 276,
Answer Given:- 3, Option ID : -275

Question ID:- 70

While teaching the concept of a ‘circle’, which one of the following would be the best way to do
it ?

(1) Present pictures of circles and ellipses

(2) Present a picture of circle

(3) Present pictures of circles and polygons

(4) Present pictures of circles of various sizes
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U ‘ga’ ) AFHURM A yerd §HY frAfafed 9 | gafag qde - g ?
(1) i AR Seigai 1 a3 wfeda e

(2) g9 = 99 wefeld &

(3) a3 sy w1 fa weffa =

(4) fafs= smer & g &1 fa= s &

Options:-

=1, Option ID :- 277,
= 2, Option ID :- 278,
= 3, Option ID :- 279,

= 4, Option ID :- 280,
Answer Given:- 4, Option ID : -280

Subject : CCLE_Q71-Q80_PRT26FEBSH1

Question ID:- 71

‘Low Attention span’ commonly found in __
(1) Adults

(2) Se ondary students

(3) Primary students

(4) Senior secondary students

‘or [ ety ara: fead o o § 2
(1) o7& d

(2) WAty fenfe |

(3) wnufhe faenferi d

(4) aftg mAfee faarfeia 4

Options:-

=1, Option ID :- 281,
= 2, Option ID :- 282,
= 3, Option ID :- 283,

= 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

Question ID:- 72

The learning by child, other than school known as
(1) Informal learning

(2) Non-formal learning

(3) Formal learning

(4) Natural learning
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a7 g0 faarad 9 s S AT hedd €
(1) vafs s

2) R-sheaife sfuy
(3) Numfer sfrm
(4) Fufifw sifumm
Options:-

=1, Option ID :- 285,
= 2, Option ID :- 286,
= 3, Option ID :- 287,

= 4, Option ID :- 288,
Answer Given:- 2, Option ID : -286

Question ID:- 73

The basic principle of ‘counselling’ in schools is :
(1) Co-operation

(2) Acceptance

(3) Data ollection

(4) Empirical Evidence

Ferireta o ‘urel 24’ &1 o fagid @

(1) F&dm

(2) HEm

(3) BT HUEW

(4) T Hied
Options:-

=1, Option ID :- 289,
= 2, Option ID :- 290,
= 3, Option ID :- 291,

= 4, Option ID :- 292,
Answer Given:- 1, Option ID : -289

Question ID:- 74

The condition of ‘Handicap’ in disability refers te
(1) Loss of memory

(2) Insomnia

(3) L ssof any body part

(4) Nostolgia
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sTNwar B sanar’ i fod & sd § -
(1) FeREd @[

(2) HFER
(3) ¥R & fordt s =) &fq
(4) TEEAd

Options:-

=1, Option ID :- 293,
= 2, Option ID :- 294,
= 3, Option ID :- 295,

= 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295

Question ID:- 75

‘Severe Mental Retardation” indicate the 1.Q. range of

() 20-35
(2) 35-40
(3) 40 - 50
(4) 45-55

‘TR o1l Hea' fea afig- sy Ty # 39 suR e &2

(1) 20-35
(2) 35-40
(3) 40-50
(4) 45-55
Options:-

=1, Option ID :- 297,
= 2, Option ID :- 298,
= 3, Option ID :- 299,

= 4, Option ID :- 300,
Answer Given:- 2, Option ID : -298

Question ID:- 76

Which one of the following could be an indication of mental illness among children ?
(1) Passive Learning

(2) Attention deficit

(3) Poor attendance

(4) Low academic achievement
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faafafad 9 @ SH-71 aicfal H gHMAS 34 1 U Hahd 81 9&hdl & 7

(1) FfgRa sfs
(2) F & HH
(3) U« vfefd

)
(4) HY A vty

Options:-

=1, Option ID :- 301,
= 2, Option ID :- 302,
= 3, Option ID :- 303,

= 4, Option ID :- 304,
Answer Given:- 2, Option ID : -302

Question ID:- 77

What is the condition of ‘Large sized head’ in mental health among children ?
(1) Cretinism

(2) Hydrocephaly

(3) Megacephaly

(4) Microcephaly

aAFI H e @ | (v’ i feafq = see §2

(1) Sigamd
(2) Sy
(3) wnfawet

(4) wEsmIfamaE

Options:-

=1, Option ID :- 305,
= 2, Option ID :- 306,
= 3, Option ID :- 307,

= 4, Option ID :- 308,
Answer Given:- 2, Option ID : -306

Question ID:- 78

The condition in which the child finds difficult in muscle control is
(1) Dyslexia

(2) Dy praxia

(3) Dysgraphia

(4) Dyscalicula
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o feafa, forqd e arqufesl = fFafa w6 8§ sfetid vegm & §, sgad § -
(1) Femiferyan

2) ferifeqa

(3) Femmfem

(4) feudigan

Options:-

=1, Option ID :- 309,
= 2, Option ID :- 310,
= 3, Option ID :- 311,

= 4, Option ID :- 312,
Answer Given:- 2, Option ID : -310

Question ID:- 79

What is ‘A D H D" with reference to Mental health of children ?
(1) Attendance Deficient High Disorder

(2) Attention Deficit High Disorder

(3) Attention Deficit Hyperactivity Disorder

(4) Attention Deficit Hyper Disability

aTAF H HIAfa® ¢a1eem & Hes H, 'ADHD' &1 314 § :
) =y sfrfade T8 femaner

(2) A SfRfaz 38 femamet

(3) A &fwfae srutfazfad feuamet

(4) 372w Sfwfhe TRW feauiad

Options:-

=1, Option ID :- 313,
= 2, Option ID :- 314,
= 3, Option ID :- 315,

= 4, Option ID :- 316,
Answer Given:- 4, Option ID : -316

Question ID:- 80

What could be an example of ‘Community Learning Resource’ ?
(1) Television

(2) Home

(3)  School

(4) Post-Office
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‘et wifenT GETe’ W U Seel FHA-H1 & Tehd © 7

(1) cfifasA

(2) =

(3) famea

(4) TFW
Options:-

=1, Option ID :- 317,
= 2, Option ID :- 318,
= 3, Option ID :- 319,

= 4, Option ID :- 320,
Answer Given:- 1, OptionID : -317

Subject : SOL_Q81-Q90_PRT26FEBSH1
Question ID:- 81

Who among the following teachers can be a good mentor ?
(1)  Sh. Keshav have travelled across 12 countries.

(2) Sh. Mamtani has 0 years of teaching experience.

(3) Along with teaching experience of 15 years Smt-Chandra is 1 ve most by her students.
(

4)  Mrs. Naidu is also a social worker.

fr=1 eyl § 9, i TH A8 FATE (A=) & Fohdl § ?

(1) 41 H9FF 12 I 1 A0 H L

(2) 9 FEaE A1 30 € = e sga )

(3) 15 @8 & ToIeqmr 39 & Wi giHdt g1 b1 faenell ey SR 31 #3d 2
(4) #9d Ag vH GEifaE FEdwd off §)

Options:-

=1, Option ID :- 321,
= 2, Option ID :- 322,
= 3, Option ID :- 323,

= 4, Option ID :- 324,
Answer Given:- 3, Option ID : -323

Question ID:- 82

Which of the following teacher will prove to be a good team builder ?
(1) Mr.Verma is very jovial.

(2) Mr. Dharma successfully runs hobby club.

(3) Sh. Dhakad has good arguing ability.

(4) Mr. Kapde has a good convincing ability.
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fr= 99, a1 @ faas us 9 98 990 a1 81 9hd1 87
(1) o 591 siga =i & |

(2) # = GEAGES STe Fos Tl § |

(3) ) uhg & deh HE H AL wHdT

(4) &1 U § FAAR/FAGH hH1 I &FHI & |

Options:-

=1, Option ID :- 325,
= 2, Option ID :- 326,
= 3, Option ID :- 327,

= 4, Option ID :- 328,
Answer Given:- 4, Option ID : -328

Question ID:- 83

The teacher as an instructor need not have the ability of ___
(1) Using easy language

(2) Working ¢ operatively

(3) Loud voice

(4) Using a language understandable by students

fides % vu H u foaes o 9 @ oo &9 e A9 # 2
(1) AEE |6l 1 I9E1T

(2) HESAIEH F FEAT

(3) ) S

(4) ST R W ST ATl SITHT <l 94w

Options:-

=1, Option ID :- 329,
» 2, Option ID :- 330,
= 3, Option ID :- 331,

= 4, Option ID :- 332,
Answer Given:- 3, Option ID : -331

Question ID:- 84

A transformative teacher leader is not expected te bring desirable changes in whom ?
(1) Self

(2) Teacher olleagues

(3) Principal

(4) Parents
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us yf@daeia Agaeiia fases 4 fead snitee aftada o &1 e 98 &) ot ?
(1) @4 ¥

(2) Grefl el &

(3) werrE™ H

(4) fusaei §

Options:-

=1, Option ID :- 333,
=« 2, Option ID :- 334,
= 3, Option ID :- 335,

= 4, Option ID :- 336,
Answer Given:- 4, Option ID : -336

Question ID:- 85

For vision building among teachers which one of the following helps the most ?
(1) History

(2) TPhilosophy

(3) Science

(4) Political Science

foraranl =t yfosy g1 FAH | A9 § 9 1 v qaifas g H ¢ ?
(1) ¢foem

(2) gAY

(3) foam

(4) usHifd &
Options:-

=1, Option ID :- 337,
= 2, Option ID :- 338,
= 3, Option ID :- 339,

= 4, Option ID :- 340,
Answer Given:- 2, Option ID : -338

Question ID:- 86

Which one of the following may not be an indicator of a developed school ?
(I) Large number of students in a school

(2) Results of students

(3) Classrocom activities
(4)

4 Performance of teachers

41 of 88 07-03-2023. 22:53



Response Sheet https://kvsexam26feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx...

fr 0 9 &F vw wh faFfad @&d #1 deras 181 8 qhdr ?
(1) & H T A F™ATHh Jem

(2) TerenieiEi & qRone

(3) @ afafer

(4) el &1 Forfa

Options:-

=1, Option ID :- 341,
= 2, Option ID :- 342,
= 3, Option ID :- 343,

= 4, Option ID :- 344,
Answer Given:- 2, Option ID : -342

Question ID:- 87

As per one view, a tool te kill the creativity of learners in school is
(1) Teachers

(2) Co-learners

(3) School activities

(4)  School bell and the time-table

U Hd % IR, hd B AfmHdiall F goAviad l #iE I8 Hl 2
(1) fog=s

(2) T siferraasa

(3) kel «rfafaferar

(4) Thed i 91 AR gug-Afon

Options:-

=1, Option ID :- 345,
= 2, Option ID :- 346,
= 3, Option ID :- 347,

= 4, Option ID :- 348,
Answer Given:- 1, Option ID : -345

Question ID:- 88

Which one of the following activities should be avoided during school assembly ?
(I) Yogasan

(2) Checking of proper school uniform

(3) Punishment to late comers

(4) Light exercise
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YT SHIel = el 941 % a0, 1 5 9 s o wfafafy § s=e =ife 2
(1) Arme

(2) ¥R H STH G F)
(3) L HA Tl H TS AT
(4) Toeh A

Options:-

=1, Option ID :- 349,
= 2, Option ID :- 350,
» 3, Option ID :- 351,

= 4, Option ID :- 352,
Answer Given:- 3, Option ID : -351

Question ID:- 89

At primary school level which type of assessment has more chances of failing ?
(1) Peer evaluation

(2) Self evaluation

(3) Formative evaluation

(4)

4 External evaluation

wefas faeanaa @t @ faq war &1 g 3796 g o sifus TR €2
(1) wferdl g/ geaie
(2) @-HEAiHA
(3) TARHF ™A
(4) T&d FAHA
Options:-
=1, Option ID :- 353,
= 2, Option ID :- 354,

= 3, Option ID :- 355,

= 4, Option ID :- 356,
Answer Given:- 3, Option ID : -355

Question ID:- 90

Who can give a reliable opinion about the progress of primary school hildren ?
(1) Experts from nearby hospital

(2) Parents of children

(3) Psychologists from a nearby health centre

(4) Person living just around the school
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ey AT @ silcial @1 §fd % oL H§ & U favasdig 99 % 96l @ ?
(1) e % s3mgare & favisg

(2) = & Hidl-foar

(3) fez * wren wx & gAdwfes

(4) A & Ik IHUH ®H arcd Afw

Options:-

=1, Option ID :- 357,
= 2, Option ID :- 358,
= 3, Option ID :- 359,

= 4, Option ID :- 360,
Answer Given:- 2, Option ID : -358

Subject : PE_Q91-Q100_PRT26FEBSH1

Question ID:- 91

What would have happened if there were no schools ? Choose the best option
(1) There would not have been science and technology.

(2) We would have remained uncivilized.

(3) Violence would have prevailed everywhere.

(4) There would not have been all round development of human beings.

F 9 T 0 &1 ? waiod famey gfHul
(1) o9 sl gl 7 |

(2) B I T

(3) =R @ W & B

(4) HEAdl 1 FainF fasE T g

Options:-

=1, Option ID :- 361,
= 2, Option ID :- 362,
= 3, Option ID :- 363,

= 4, Option ID :- 364,
Answer Given:- 4, Option ID : -364

Question ID:- 92

Who was the chairman of NEP - 2020’s final draft committee ?
(1) K. Subramaniam

(2) K. Kasturirangan

(3) Dharmendra Pradhan

(4) Shaktikant Da
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NEP-2020 % 3ifi8 U&Y a4 arelt afafq &1 3jeas i o ?

(1) . gaEfas
(2) . FIEE
(3) UH=R 9uH

(4) wfdehld =

Options:-

=1, Option ID :- 365,
= 2, Option ID :- 366,
= 3, Option ID :- 367,

= 4, Option ID :- 368,
Answer Given:- 2, Option ID : -366

Question ID:- 93

What is covered under foundational numeracy ?

(1) Addition, Subtraction, Division, Multiplication

(2) Addition, Subtraction, Division, Multiplication and Basic Algebra
(3) Addition, Subtraction, Division, Multiplication and Basic Geomelry
(4) Only Addition and Subtraction

gl wrEA (EE) § - mivd § 2
(1) g e, 7o, o

(2) Sirg, =, O, A q AR St Aforg
(3) Sig W= Tum wm ad gHAR) sl
(4) HE SIS R =

Options:-

=1, Option ID :- 369,
= 2, Option ID :- 370,
= 3, Option ID :- 371,

= 4, Option ID :- 372,
Answer Given:- 1, Option ID : -369

Question ID:- 94

What is the basic spirit of the concept of ‘Learning for all’ ?

(1) Implementing compulsory education

(2) To set minimum levels of learning

(3)  All children learn something important in schools at primary school level
(

4) To have better expectations frem schools
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‘Bl &g dREA (AT R S) ® gd WeA #3982

(1) Afrar faren @y S

2) TR F FFATH TR IF KA

3) yrufgs R % 'R 9 9 FF-9-FS Aea i drg
4) Thell 9 3R FFa Y @A

—_

Options:-

=1, Option ID :- 373,
= 2, Option ID :- 374,
= 3, Option ID :- 375,

= 4, Option ID :- 376,
Answer Given:- 1, Option ID : -373

Question ID:- 95

Why do we have compulsory education at elementary level ?
(1) It (education) makes chiid a man.

(2) Itis free.

(3) Itisa tool to rule the people.

(4) Itis a constitutional right of children.

et R wE faan Sfvad =5 ®2

(1) a8 (foem) srereh o 757 s B |
2) uEF.ge R

3) g W IEA HEA H Uh SR §

(
(
(4) 9T STl @l U Hauian fueR )
Options:-

=1, Option ID :- 377,

= 2, Option ID :- 378,

= 3, Option ID :- 379,

= 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380

Question ID:- 96

Which one of the following is not a child right ?
(1) Free and compulsory elementary education
(2) Secure environment

(3)  Choice of school

(4) Fear free family environment
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A 99 R |1 & T AR A8 2 2
(1) 1.9 oiv sifqard mefas faan
(2) HU&rd axE

(3) W I =TI
(4) wag® IRER 1 AR

Options:-

=1, Option ID :- 381,
= 2, Option ID :- 382,
= 3, Option ID :- 383,

= 4, Option ID :- 384,
Answer Given:- 4, Option ID : -384

Question ID:- 97

What does the idea of Operation Black Board (OBB) imply ?

(I) Providing black boards in all classes

(2) To have all boards in classrooms of black colour only

(3) Ascertaining ome minimum infrastructure faciliies in all primary schools
(4) To provide 4% of GDP to primary schools

STRYA &feh 1€ (OBB) ! IR | 271 d1eqd § 2
(1) |l weqiedi § @MY <Al
(2) sfi el § SISt I w0 H & B

)

)

N

(3) Gt W3HA wheAl 9 @ =pF9H drar@ giaum giafed s@
(4) WIBHY hal B 4% SRE.

Options:-

=1, Option ID :- 385,
= 2, Option ID :- 386,
= 3, Option ID :- 387,

= 4, Option ID :- 388,
Answer Given:- 3, Option ID : -387

Question ID:- 98

For developing which one of the following decuments, a nation wide survey was conducted for
the first time after independence ?
(1) NEP - 2020

(2) NPE - 1986
(3) NCF - 2005
(4) NCFTE
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ATl & 915 Tgel R [ H @ 19 § q)iEas &1 fAsfHa w3 g agsadt gy fem w2
(1) NEP - 2020

(2) NPE - 1986

(3) NCF - 2005

(4) NCFTE

Options:-

=1, Option ID :- 389,
=« 2, Option ID :- 390,
= 3, Option ID :- 391,

= 4, Option ID :- 392,
Answer Given:- 2, Option ID : -390

Question ID:- 99

Which one of the following is not the main principle of curriculum construction ?
(1) Need based

(2) Subject centredness

(3)  Flexibility

(4) Totality f experiences

e o | i W v sl e @ wgE fagia A &2
(1) 3ATALTHT TR

(2) fawa wfzzm

(3) EHemA

(4)  FI9ET Sl HHUAI

Options:-

=1, Option ID :- 393,
= 2, Option ID :- 394,
= 3, Option ID :- 395,

= 4, Option ID :- 396,
Answer Given:- 2, Option ID : -394

Question ID:- 100

In which one of the following curricular areas parents may be least awake ?
(I) Aims of Education

(2) Teaching Subjects

(3) Teaching Methods

(4) Techniques of evaluation.
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= O | frg qrea=ai &9 % o) 1 wa-fudr 4o £9 §9d 8 96d § ?

(1) T & sEw
(2) UM [ et faw
(3) foreqo fafert

(4) HERIFHA FHI dhleh

Options:-

=1, OptionID :- 397,
= 2, OptionID :- 398,
= 3, OptionID :- 399,

= 4, OptionID :- 400,
Answer Given:- 3, OptionID : -399

Subject : HINDI_Q101-Q120_PRT26FEBSH1

Question ID:- 101

fretfafaa e = argds gewt AW i uv &1 wdiF I e

F8 A faa =1 safae e 7md € 6 30 9e-58 Hord o760 #1 53 fewn 81 g&fifan fagm
%! T SRR 1 S Hgl a1 ¢ | 37 FIdeh slAR o %A 4 AR §E6R i 9321 #§ T fohan s wehan
21 2@ S sl 1 17 e foee % SR Ad dfeh adar fava aen % wrv ) v & sgled
o, T iR SR <ot o gfan o1 fasrem den faswfag (eiardt o gry eufasmiaa <o | gy wAH
) Hgcaiia 3 39 fasr it 59 few ¥ @@ fagm =i aifyemy €3 | 991 & fou fava =aen § ufedq
FH B TR orgen § gEi ) Qg 99 sl 3R fagrm Hfeg #EaE % de ] 99 S|

fazam ey wed & Hods A 99 SN 5 ¢
(1)  37HR 2@ 3 off 3pi & wad

(2) T 2 i T g S

(3) TN R GRS QUG &1 ST

(4) = oyaren ¥ sfyAr +1 e wuTw it

Options:-

=1, OptionID :- 401,
= 2, OptionID :- 402,
= 3, OptionID :- 403,

= 4, OptionID :- 404,
Answer Given:-4, OptionID : -404

Question ID:- 102
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frerfafaa M = argds teet AW i ue 1 AdiE I AT

F8 a1 faqa =1 safae safsrm 7Aa € 6 391 Je-92 dora & A 91 fean §1 sifan faam
I SITdS SR 1 ST e A § 1 37 Wdeh &I & 3ETHIA ¥ gR §9R ot 732 § 7= fohan s qavan
31 @ 9 A s %1 7 de faam % FR T8 sfess a9 fava sraeen % Frw ) fava =1 sHgfaa
famrma, e o iR a9t F gfan o1 fasrs qen fawfaa geiland) <o gro sreufasfad o W Wy oM
Y HecIHiET 3 79 fawn | 579 fem &1 o fagm 1 aifieng €9 | 59 & fou fava syaen § gftadq
B A9 Frgen 4 gfuail & e guve gt 3iR fagm ey #gan & Fde 4 9 S|

sl =) dts fhaat uftomm & 2
(1) d939

(2) ¥

(3) wdwA fava srgen

(4) HEER HESRE

Options:-

=1, Option ID :- 405,
= 2, Option ID :- 406,
= 3, Option ID :- 407,

= 4, Option ID :- 408,
Answer Given:- 3, Option ID : -407

Question ID:- 103

Feafafaa T # dargds Teat AW amnfid Uy T Weld W afag

F A fagd & safoe e gAd € o ae-o2 denh ol o 5 fean 81 sefifea fagm
! ST SfIR T T g T €| 39 I SfUIRi % IWHIA § IR G9R o faa2i § 9= 1 s whan
21 @ S SRl ) gw & AR % SR Ad dfeh adar fava oyaen & wrw ) e i sgfad
o, 0 o3k R it # gfaen =1 fasirs den faswfag Geiaid 39 gry Seulasmiad <ol W ys@ wAH
HI TEHET A 39 fadr &t 59 fom €1 o9: fagm = e €8 9 991 % o fava sreen § ofadd
HA BN T wraen ¥4 gfuadl ) <g FHTd ' 3R fagrm sfirery FEdn F wde 8§99 S|

IEEREIETEICI K

(1) AT

(2) = TUARI T FHH

(3) wEAIEA

(4) To=mi = faeh
Options:-

=1, Option ID :- 409,
= 2, Option ID :- 410,
= 3, Option ID :- 411,

= 4, Option ID :- 412,
Answer Given:- 2, Option ID : -410

Question ID:- 104
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frefafaa weris = argds gt AW A ue &1 adid I A

F8 o fag =1 safae sfsam 9md € 6 367 Je-o¢ dana ol 1 53 fean @1 swiifan fagm
%l ST SUAR] 1 S gl Il & | 34 Tdeh A & 357 H 4R HER 1 {1 § 9= v s gaan
71 TS @ s w1 1% e foa % Hrw Ad s w09 fava syaeen % v ) favs # sEgfad
famrma, e o iR et F gfan o1 fasrs qen fawfaa geiland) <o gro sreufasfad el W wye oM
H1 ggcarehien 3 39 fawr it 1 fom €)1 o/ fagm +t aifyemy €19 4 5= & foe fava sen § afiady
H BN T wraen § giEar) # e HI gl 3iR fagr Hfirer HEdn F wds § 99 S

T @ fam = aafirery =5 g €2
(1) HET A & FH9 ¢4 & HRW
(2) FHSI FEEEIEA h H

(3) 38 W I A EH H HRU
(4) HIHE H G G & B0

Options:-

=1, Option ID :- 413,
= 2, Option ID :- 414,
= 3, Option ID :- 415,

= 4, Option ID :- 416,
Answer Given:- 1, Option ID : -413

Question ID:- 105

Frefafaa T & rgdes gga W U WY T Tt IR Sty

F8 @ faar =1 safau sfiem gHd § 76 597 9e-a Hera &l = 9 foan 31 s¥ifau fagm
i T SRR 1 S gl Tl & | 37 Hdeh AR o 3T § AR HER 61 732 § 7% fFan S gehan
21 <@ S i 3R w1 e Sre fag[ & @R A afesw ada fave sgaeen & wrw €1 fawa # srngfea
o, s 3R 3R 29 F g o favre aen fawfaa e 29 g seafasfaa 3 W vya M
i HEcHiET 7 39 fapr A 95 fgan 81 374 faqm i ifaemy € | 9= & fore fava oqaeen § uRadA
HET B T maen | gfEnl w e gurg 2 ik foge aifiremy wEen % welw ¥ 59 ST )

e o fawR Brge! aamn 7 22

(1) 3HR I H1 9" H

(2) = e = feafa =

(3) wdHH favasaaen !

(4) 3THR IR " & 99 F HIA WE F

Options:-

=1, Option ID :- 417,
= 2, Option ID :- 418,
= 3, Option ID :- 419,

= 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106
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‘Eiferu ! Fgrl, haifdg &) Il S T R AR # ]2

(1) wfqsn

(2) IARF ARAET
(3) w&HEg Td
(4)  ofaqsm o
Options:-

=1, Option ID :- 421,
= 2, Option ID :- 422,
= 3, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- 4, Option ID : -424

Question ID:- 107

“FYAl B AR’ T
(1) wfam
(2) e
(3) fsu
(4) «a
Options:-

=1, Option ID :- 425,
= 2, Option ID :- 426,
= 3, Option ID :- 427,

= 4, Option ID :- 428,
Answer Given:- 4, Option ID : -428

Question ID:- 108

At Y ufewn I T g ufeE AT W Sd oft ?
(1) FH g

(2) F8 T | @ 71 gHal o

(3) I TH W HAGR o

(4) 39 SIE HH Jycien T o

Options:-

=1, Option ID :- 429,
= 2, Option ID :- 430,
=« 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- 2, Option ID : -430

Question ID:- 109
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‘ferm g 3fdqg" A wrEl = faaro fpm = 9 feen mn 22
(1) Fedfum Y g

(2) HA H -9 Fcd

(3) 9TYT S =

(4) TR i GHEITH

Options:-

=1, Option ID :- 433,
= 2, Option ID :- 434,
= 3, Option ID :- 435,

= 4, Option ID :- 436,
Answer Given:- 1, Option ID : -433

Question ID:- 110

‘derdiz’ o @miaar §

(1) sRawa s==21q
(2) WUHEE IR

(3) fuften vt swama
(4) AR TH.fAUE
Options:-

=1, Option ID :- 437,
= 2, Option ID :- 438,
= 3, Option ID :- 439,

= 4, Option ID :- 440,
Answer Given:- 1, Option ID : -437

Question ID:- 111

‘g aTelt 3T H S FEEH H1g WIPHT HU A S o d1 3T 3, i 61 srel ared) off ?

(1) g @R o

(2) HIG HIHAT off

(3) S UH UH & ;g ot
(4) g g A
Options:-

=1, Option ID :- 441,
= 2, Option ID :- 442,
= 3, Option ID :- 443,

= 4, Option ID :- 444,
Answer Given:- 3, Option ID : -443

Question ID:- 112
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frafafad § Sifdr wsg @ .
(1)
(2) e
(3) wem
(4) W
Options:-

=1, Option ID :- 445,
= 2, Option ID :- 446,
= 3, Option ID :- 447,

= 4, Option ID :- 448,
Answer Given:- 2, Option ID : -446

https://kvsexam26feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 113

QAT T 9T S AT R

(1) o1gmH fag

(2) U= fEg

(3) THW W&

(4) @EFaE fgag
Options:-

=1, Option ID :- 449,
= 2, Option ID :- 450,
= 3, Option ID :- 451,

= 4, Option ID :- 452,
Answer Given:- 1, Option ID : -449

Question ID:- 114

(1) == 3 q 9943 =% fau

(2) W & fau

(3) WA =4 & fou

(4) Wil § g9 & fag
Options:-

=1, Option ID :- 453,
= 2, Option ID :- 454,
= 3, Option ID :- 455,

= 4, Option ID :- 456,
Answer Given:- 2, Option ID : -454

‘Hie] 4 Gl Pesiel’ AHS A S SUR W HdRY 9 % A= A Ug %l el iy o ?

Question ID:- 115
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‘w1 e wse AE R

(1) FHR
(2 3ITH
(3) UWH
(4) HrEd
Options:-

=1, Option ID :- 457,
= 2, Option ID :- 458,
= 3, Option ID :- 459,

= 4, Option ID :- 460,
Answer Given:- 2, Option ID : -458

Question ID:- 116

frefafaa 5 2 frg o J fawl 6fy 32 2
(1) fomwm

(2) 9T

(3) =M

(4) afeds
Options:-

=1, Option ID :- 461,
= 2, Option ID :- 462,
= 3, Option ID :- 463,

= 4, Option ID :- 464,
Answer Given:- 2, Option ID : -462

Question ID:- 117

(1) AIA%3
(2) wxfafEa
(3)  EHHT
(4) Hrefad
Options:-

=1, Option ID :- 465,
= 2, Option ID :- 466,
= 3, Option ID :- 467,

= 4, Option ID :- 468,
Answer Given:- 1, Option ID : -465

Question ID:- 118
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frafafad o Tl § qeqg-agva =1 o7 g |

(1) FT=-3E
(2) FB-HI%
(3) THIG-FTE
(4) foA-am
Options:-

=1, Option ID :- 469,
= 2, Option ID :- 470,
= 3, Option ID :- 471,

= 4, Option ID :- 472,
Answer Given:- 4, Option ID : -472

Question ID:- 119

frafefaa facdmdt sse-gmi § v @

(1) 3FACT-HfE

(2) 3T~y

(3) WM

(4) 3"
Options:-

=1, Option ID :- 473,
= 2, Option ID :- 474,
= 3, Option ID :- 475,

= 4, Option ID :- 476,
Answer Given:- 3, Option ID : -475

Question ID:- 120

‘H1g = gy faamn qeE &1 g 9 T
(1) o ST&H & [ <Al

(2) 913 I HEAA KA

(3) =i 1 gy faamn

(4) A HRHE! I HIE H G

Options:-

=1, Option ID :- 477,
= 2, Option ID :- 478,
=« 3, Option ID :- 479,

= 4, Option ID :- 480,
Answer Given:- 2, Option ID : -478

Subject : ENGLISH_Q121-Q140_PRT26FEBSH1

Question ID:- 121
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Read the passage given below and answer the questions that follow.
Passage

One major problem that faces the world today is the rapid growth of population, often
referred to as population explosion. Until about 800 AD, the world’s population stayed below 200
miilion. Since then it has risen dramatically. The rise has been the greatest in the 20th century.
Experts predict that by 2020, there will be about ten billion people, causing serious problems of
hunger, overcrowding and environmental pollution.

This enormous increase of population is due to better food, better hygiene and, above all, the
advan es made in medicine. Rapid developments in modern medicine have conquered many diseases
and consequently the death rate has decreased. Until the beginning of the 19th century, most
people died before the age of 50. Today in developed countries, the average lifespan has risen to
more than 70 years. Thomas Malthus, a British mathematician and economist, went to the extent
of de laring that, if unchecked, human population would grow in geometric progression (ie.l, 2,
4, 8 and so on) when food production could only grow in arithmetic progression (Le. 1, 2, 3, 4 and
so on). He was, of course, very pessimistic.

India’s population has risen drastically since 1950 : the population today is 2.5 times a large
as it was in 1950. It is rising by 2.9 percent per year, and in consequence, every year an extra 26
million people have to be provided for. The government is taking measures to curb the population
growth and a large percentage of people practise birth control. Recent advan es in farming have
made the country productive enough to feed the present population. Failure to arrest further
increase of population may have disastrous effects, though there seems to be some truth in the
statement made by Julian Simon of the University of Maryland : according te him, although
population growth means there will be more mouths to feed, there will be “more hands to work
and more brains to think.”

What is the effect of modern medicine on population ?
(1) It has led to decrease in population.

(2) It has no effect on population.

(8) It has resulted in increase in population.

(4) Itis not related with population at all.
Options:-

=1, Option ID :- 481,
= 2, Option ID :- 482,
= 3, Option ID :- 483,

= 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483

Question ID:- 122
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Read the passage given below and answer the questions that follow.
Passage

One major problem that faces the world today is the rapid growth of population, often
referred to as population explosion. Until about 800 AD, the world’s population stayed below 200
miilion. Since then it has risen dramatically. The rise has been the greatest in the 20th century.
Experts predict that by 2020, there will be about ten billion people, causing serious problems ot
hunger, overcrowding and environmental pollution.

This enormous increase of population is due to better food, better hygiene and, above all, the
advan es made in medicine. Rapid developments in modern medicine have conquered many diseases
and consequently the death rate has decreased. Until the beginning of the 19th century, most
people died before the age of 50. Today in developed countries, the average lifespan has risen to
more than 70 years. Thomas Malthus, a British mathematician and economist, went to the extent
of declaring that, if unchecked, human population would grow in geometric progression (ie.1, 2,
4, 8 and so on) when food production ould only grow in arithmeti. progression (Le. 1, 2, 3, 4 and
so on). He was, of course, very pessimistic.

India’s population has risen drastically since 1950 : the population today is 2.5 times a large
as it was in 1950. It is rising by 2.9 percent per year, and in consequence, every year an extra 26
million people have to be provided for. The government is taking measures to curb the population
growth and a large percentage of people practise birth control. Recent advan: es in farming have
made the country productive enough to feed the present population. Failure to arrest further
increase of population may have disastrous effects, though there seems to be some truth in the
statement made by Julian Simon of the University of Maryland : according to him, although
population growth means there will be mere mouths to feed, there will be “more hands to work
and more brains to think.”

Thomas Malthus predicted...

(1) steep rise in population

(2) decrease in population

(3) that population will remain constant

(4) that population will stabilise in due ourse of time.

Options:-

=1, Option ID :- 485,
» 2, Option ID :- 486,
= 3, Option ID :- 487,

= 4, Option ID :- 488,
Answer Given:- 1, Option ID : -485

Question ID:- 123
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Read the passage given below and answer the questions that follow.
Passage

One major problem that faces the world today is the rapid growth of population, often
referred to as population explosion. Until about 800 AD, the world’s population stayed below 200
miilion. Since then it has risen dramatically. The rise has been the greatest in the 20th century.
Experts predict that by 2020, there will be about ten billion people, causing serious problems of
hunger, overcrowding and environmental pollution.

This enormous increase of population is due to better food, better hygiene and, above all, the
advan esmade in medicine. Rapid developments in modern medicine have conquered many diseases
and consequently the death rate has decreased. Until the beginning of the 19th century, most
people died before the age of 50. Today in developed countries, the average lifespan has risen to
more than 70 years. Thomas Malthus, a British mathematician and economist, went to the extent
of de laring that, if unchecked, human population would grow in geometric progression (ie.1, 2,
4, 8 and so on) when food production could only grow in arithmeti. progression (Le. 1, 2, 3,4 and
so on). He was, of course, very pessimistic.

India’s population has risen drastically since 1950 : the population today is 2.5 times a large
as it was in 1950. It is rising by 2.9 percent per year, and in consequence, every year an extra 26
million people have to be provided for. The government is taking measures to curb the population
growth and a large percentage of people practise birth control. Recent advan es in farming have
made the country productive enough to feed the present population. Failure to arrest further
increase of population may have disastrous effects, though there seems to be some truth in the
statement made by Julian Simon of the University of Maryland : according to him, although
population growth means there will be more mouths to feed, there will be “more hands to work
and more brains to think.”

On the basis of his theory of population, Malthus can be characterised as...
(1) a pessimist

(2) an optinust

(3) a cynic

(4) a crazy person
Options:-

=1, Option ID :- 489,
= 2, Option ID :- 490,
= 3, Option ID :- 491,

= 4, Option ID :- 492,
Answer Given:- 1, Option ID : -489

Question ID:- 124
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Read the passage given below and answer the quesfions that follow.
Passage

One major problem that faces the world today is the rapid growth of population, often
referred to as population explosion. Untl about 800 AD, the world’s population stayed below 200
miilion. Since then it has risen dramatically. The rise has been the greatest in the 20th century.
Experts predict that by 2020, there will be about ten billion people, causing serious problems of
hunger, overcrowding and environmental pollution.

This enormous increase of population is due to better food, better hygiene and, above all, the
advan e made in medicine. Rapid developments in modern medicine have conquered many diseases
and consequently the death rate has decreased. Until the beginning of the 19th century, most
people died before the age of 50. Today in developed countries, the average lifespan has risen to
more than 70 years. Thomas Malthus, a British mathematician and economist, went to the extent
of de laring that, if unchecked, human population would grow in geometric progression (ie.l, 2,
4, 8 and so on) when food production could only grow in arithmetic progression (Le. 1, 2, 3, 4 and
so on). He was, of course, very pessimistic.

India’s population has risen drastically since 1950 : the population today is 2.5 times a large
as it was in 1950. It is rising by 2.9 percent per year, and in consequence, every year an extra 26
million people have to be provided for. The government is taking measures to curb the population
growth and a large percentage of people practise birth control. Recent advan es in farming have
made the country productive enough to feed the present population. Failure to arrest further
increase of population may have disastrous effects, though there seems to be some bruth in the
statement made by Julian Simon of the University of Maryland : according to him, although

population growth means there will be mere mouths to feed, there will be “more hands to work
and more brains to think.”

According to the passage, which of the two statements is True/False ?
(A) India’s population is rising at the rate of 2.9 percent per year.
(B) Indian people are not taking to birth contr 1 methods at all.

(1) Both are True
(2) Both are False
(3) (A) is True but (B) is False
(4) (A) is False but (B) is True

Sy

Options:-

=1, Option ID :- 493,
= 2, Option ID :- 494,
= 3, Option ID :- 495,

= 4, Option ID :- 496,
Answer Given:- 3, Option ID : -495

Question ID:- 125
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Read the passage given below and answer the questions that follow.
Passage

One major problem that faces the world today is the rapid growth of population, often
referred to as population explosion. Until about 800 AD, the world’s population stayed below 200
miilion. Since then it has risen dramatically. The rise has been the greatest in the 20th century.
Experts predict that by 2020, there will be about ten billion people, causing serious problems of
hunger, overcrowding and environmental pollution.

This enormous increase of population is due to better food, better hygiene and, above all, the
advan es made in medicine. Rapid developments in modern medicine have conquered many diseases
and consequently the death rate has decreased. Until the beginning of the 19th century, most
people died before the age of 50. Today in developed countries, the average lifespan has risen to
more than 70 years. Thomas Malthus, a British mathematician and economist, went to the extent
of declaring that, if unchecked, human population would grow in geometric progression (ie.l, 2,
4, 8 and so on) when food production ould only grow in arithmeti. progression (Le. 1, 2, 3, 4 and
so on). He was, of course, very pessimistic.

India’s population has risen drastically since 1950 : the population today is 2.5 times a large
as it was in 1950. It is rising by 2.9 percent per year, and in consequence, every year an extra 26
million people have to be provided for. The government is taking measures to curb the population
growth and a large percentage of people practise birth control. Recent advan es in farming have
made the country productive enough to feed the present population. Failure to arrest further
increase of population may have disastrous effects, though there seems to be some truth in the
statement made by Julian Simon of the University of Maryland : according to him, although
population growth means there will be mere mouths to feed, there will be “more hands to work
and more brains to think.”

Julian Simon’s approach to population growth...
(1)  upports Malthus” hypothesis on population growth

(2) contradicts Malthus’ hypothesis on population growth

(8) takes no position on population growth

(4) does not talk about the population is 1e t all.
Options:-

=1, Option ID :- 497,
= 2, Option ID :- 498,
= 3, Option ID :- 499,

= 4, Option ID :- 500,
Answer Given:- 4, Option ID : -500

https://kvsexam26feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 126

Rearrange the parts in correct order te make meaningful sentences.
(a) atall

(b) threw stones

() the naughty child

(d) passing cars

(D (c).(b).(a).(d)

(2)  (d).(c),(b).(a)

(3)  (b).(c).(d).(a)

(4)  (a),(b),(c),(d)
Options:-

=1, Option ID :- 501,
= 2, Option ID :- 502,
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= 3, Option ID :- 503,

= 4, Option ID :- 504,
Answer Given:- 1, Option ID : -501

Question ID:- 127

Rearrange the parts in correct order te make meaningful sentences.
(a) in internatienal tournamenis

(b) has been doing well

() the Indian ricket team

(d)  part from some occasional failures,

(D) (e).(d).(a).(b)

(2)  (d).(c),(b).(a)

(3)  (a).(b)(c),(d)

(4)  (b).(c).(d).(a)
Options:-

=1, Option ID :- 505,
= 2, Option ID :- 506,
= 3, Option ID :- 507,

= 4, Option ID :- 508,
Answer Given:- 2, Option ID : -506

Question ID:- 128

Fill in the blanks with correct prepositions.

The frightening sound came from __ the river.
(1) across

(2) off

(3) round

(4) over
Options:-

=1, Option ID :- 509,
= 2, Option ID :- 510,
= 3, Option ID :- 511,

= 4, Option ID :- 512,
Answer Given:- 1, Option ID : -509

Question ID:- 129

Fill in the blanks with correct prepositions.

The foreigner spoke __ me in his native language.

(1) of
(2) with
(3) to
(4) for

Options:-

=1, Option ID :- 513,
= 2, Option ID :- 514,
= 3, Option ID :- 515,
= 4, Option ID :- 516,
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Answer Given:- 3, Option ID : -515

Question ID:- 130

Identify the correct tense forms for the underlined words in the given sentences.

When will you be returning the book ?
(1) Simple Future

(2) Future Continuous

(3) Future Perfect

(4) Simple Present

Options:-

=1, Option ID :- 517,
= 2, Option ID :- 518,
= 3, Option ID :- 519,

= 4, Option ID :- 520,
Answer Given:- 2, Option ID : -518

Question ID:- 131

Identify the correct tense forms for the underlined words in the given sentences.

He has returned all the books to the library.
(1) TPast Perfe t

(2) Simple Present

(3) Present Perfect

(4) Present Perfect Continuous
Options:-

=1, Option ID :- 521,

= 2, Option ID :- 522,

= 3, Option ID :- 523,

= 4, Option ID :- 524,
Answer Given:- 3, Option ID : -523

Question ID:- 132

Identify the part which contains an error.
The highway robber/killed/the inmocent traveller/by a hatchet.

(1) (2) (3) (4)

Options:-

=1, Option ID :- 525,
= 2, Option ID :- 526,
= 3, Option ID :- 527,

= 4, Option ID :- 528,
Answer Given:- 4, Option ID : -528

Question ID:- 133

Identify the part which contains an error.
The young lady/speaks/ fluent English, /isn’t it?

(1 (2) (3) (4)

Options:-
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=1, Option ID :- 529,
= 2, Option ID :- 530,
= 3, Option ID :- 531,

= 4, Option ID :- 532,
Answer Given:- 4, Option ID : -532

Question ID:- 134

Choose the word nearest in meaning to the given word.

RECOLLECT

(1) recall

(2) ponder

(3) meditate

(4) forget
Options:-

=1, Option ID :- 533,
= 2, Option ID :- 534,
= 3, Option ID :- 535,

= 4, Option ID :- 536,
Answer Given:- 2, Option ID : -534

Question ID:- 135

Choose the word nearest in meaning to the given word.

ABHORRENT
(1) stinking
(2) violent
(3) hateful
(4) jealous
Options:-

=1, Option ID :- 537,
= 2, Option ID :- 538,
= 3, Option ID :- 539,

= 4, Option ID :- 540,
Answer Given:- 2, Option ID : -538

Question ID:- 136

Choose the words opposite in meaning to the given words.
DOCILE

(1) obedient

(2) wilful

(3) violent

(4) indifferent
Options:-

=1, Option ID :- 541,
= 2, Option ID :- 542,
« 3, Option ID :- 543,

= 4, Option ID :- 544,
Answer Given:- 1, Option ID : -541
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Question ID:- 137

Choose the words oppesite in meaning te the given words.
PROFANE

(1) saintly

(2) transparent
(3) sacred

(4) contaminated
Options:-

=1, Option ID :- 545,
= 2, Option ID :- 546,
= 3, Option ID :- 547,

= 4, Option ID :- 548,
Answer Given:- 1, Option ID : -545

Question ID:- 138

Identify the part of speech of the underlined word.
Since the day I met him last, I haven’t seen him.
(1) Adjective

(2) Preposition

(3) Conjunction

(4) Noun
Options:-

=1, Option ID :- 549,
= 2, Option ID :- 550,
= 3, Option ID :- 551,

= 4, Option ID :- 552,
Answer Given:- 3, Option ID : -551

Question ID:- 139

Change the following sentence from Active Voice te Passive Voice.
The gardener gave me a red flower.

(1) A red flower was being given to me by the gardener.

(2) The gardener wa given a red flower by me.

(3) A red flower was given to me by the gardener.

(4) A red flower is being given to me by the gardener.

Options:-

=1, Option ID :- 553,
= 2, Option ID :- 554,
= 3, Option ID :- 555,

= 4, Option ID :- 556,
Answer Given:- 3, Option ID : -555

Question ID:- 140
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Identify the clause of the underlined part in the given sentence.
The doctor is hopeful that the patient will recover soon .

(1) Noun Clause

(2) Adjective Clause
(3) Adverb Clause
(4) Principal Clause
Options:-

=1, Option ID :- 557,

= 2, Option ID :- 558,

= 3, Option ID :- 559,

= 4, Option ID :- 560,
Answer Given:- 3, Option ID : -559

Subject : MATHS_Q141-Q160_PRT26FEBSH1

Question ID:- 141

Write the smallest 5-digit number using digits 2, 3, 5, 8 «nd 9 which is divisible by 9 :

(1) 23589
(2) 32589
(3) 53289
(4) 98532

3§ 2,3, 5,8 39 H FAIT Fih 5-3H i I @ B dE&, S 9 H fawfsa &, €

(1) 23589
(2) 32589
(3) 53289
(4) 98532
Options:-

=1, Option ID :- 561,
= 2, Option ID :- 562,
=« 3, Option ID :- 563,

= 4, Option ID :- 564,
Answer Given:- 1, Option ID : -561

Question ID:- 142

The sum of the largest and the smallest 5-digit numbers formed b the digits 3,4, 0, 6, 5 is :

(1) 95886
(2) 68886
(3) 99486
(4) 34974
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37l 2,4, 0,6 5 QT 5-3iH1 HI 91 9 I a1 SE § SIS e 1 A0 §

(1) 95886
(2) 68886
(3) 99486
(4) 34974
Options:-

=1, Option ID :- 565,
= 2, Option ID :- 566,
= 3, Option ID :- 567,

= 4, Option ID :- 568,
Answer Given:- 1, Option ID : -565

Question ID:- 143

The successor of a number is related to the predecessor in some way. The missing numbers in the
given pattern is
2,57, 12,19, 31,

(1) 40, 49
(2) 45, 65
(3) 43,56

(4) 50, 81

HEHT 1 FAEd] d21 qdadl A7y § Ueh WhR 9 Helfvd € 1 fu 3 329 § foqw e ¥
2,5,7, 12, 19, 31,

(1) 40, 49
(2) 45,65
(3) 43, 56
(4) 50, 81
Options:-

=1, Option ID :- 569,
= 2, Option ID :- 570,
= 3, Option ID :- 571,

= 4, Option ID :- 572,
Answer Given:- 4, Option ID : -572

Question ID:- 144

What digit would come in the place of * in the following multiplication ?

(427) X (246) = 126392
1 2
2) 4
3 6
49 9
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+ oh ¥IH W 9 oRESA °§ A e o ?
(427) x (2%6) = 126392

1 2
(2) 4
(3 6
4) 9
Options:-

=1, Option ID :- 573,
= 2, Option ID :- 574,
= 3, Option ID :- 575,

= 4, Option ID :- 576,
Answer Given:- 4, Option ID : -576

Question ID:- 145

The side face of a cuboid is a square having an area of 64 cm? and the longer edge in each of the
four rectangular faces is of length 15 cm. The area of each rectangular face (in cm?) is

(1) 45
2) 72
(3) 120
4) 320

Tesh T 1 U19d Thefsh ATehR & 91 3HHT 95 64 cm? & 3R 917 AFTH Bl & a8 frAn =) qan
15 cm § | T SFARR Fed Fl Q9% (cm2H) © -

('l) 45
2) 72
(3) 120
(4) 320
Options:-

=1, Option ID :- 577,
= 2, Option ID :- 578,
= 3, Option ID :- 579,

= 4, Option ID :- 580,
Answer Given:- 1, Option ID : -577

Question ID:- 146
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How many line/lines of symmetry does the figure have ?

(1) 1
2 2
3 3
(4) Infinite
1 1
(2 2
3 3
(4) 3Ad
Options:-

=1, Option ID :- 581,
= 2, Option ID :- 582,
= 3, Option ID :- 583,

= 4, Option ID :- 584,
Answer Given:- 3, Option ID : -583

Question ID:- 147

Fractons E,E,l,g , when written in increasing order are :
4 6 12 3

] 7 23

(]') r ’
123 4 6
235

(2) ’ r s
346 12
7 53

(3) . PR A
12 6 4 3
532

(4) 7 ’ r
6 4 3 12
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fir 3 5 7 2 Zyami v et wum A
4'6'12"3

12
) 7 23
(l) - r ’
12 3 4 6
237 7
(2) ro T
346 12
7 53
(3) LR A
12 6 4 3
5*2 7
(4) D A ]
6 4 3 12
Options:-

=1, Option ID :- 585,
= 2, Option ID :- 586,
= 3, Option ID :- 587,

= 4, Option ID :- 588,
Answer Given:- 1, Option ID : -585

https://kvsexam26feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 148

1 1 5 [2 3 J N .
4d—— | 2= ==~ | =+t ——— on simplitication gives :
10 { 2 {6 5 10 15
(1) -1
(2 2
3 4
4) 6

g1 [21— {é_[EJri—i]H 1 T FT T AW T R
10 . 6 10 15
1) -1
2 2
(3) 4
(4) 6
Options:-

=1, Option ID :- 589,
=« 2, Option ID :- 590,
=« 3, Option ID :- 591,

= 4, Option ID :- 592,
Answer Given:- 2, Option ID : -590

Question ID:- 149

70 of 88

07-03-2023. 22:53



Response Sheet https://kvsexam26feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx...

Two plots of land have the same perimeter. One is square of side 24 m and the other is a re: tangle
of length 28 m. The difference in their areas is

(1) 10sq.m
(2) 12squm
(3) 16sq.m
(4) 20sqm

QN WA T IRETY SRR § | U WIS IR & FA9a ool 24 It § 77 gHU STIAIhR & 997 399 oIeals 28
et 3 1 SHT % [Tl Bl FA E

(1) 10 a1 HiR
2) 12 7 Hi&R
(3) 16 i Hiw
(4) 20 HieX
Options:-

=1, Option ID :- 593,
= 2, Option ID :- 594,
= 3, Option ID :- 595,

= 4, Option ID :- 596,
Answer Given:- 3, Option ID : -595

Question ID:- 150

The cost of 40 packets of 12 pens is ¥ 1680. The co of 30 packets each containing 9 pens is :

(1) T 945
(2) ¥ 1080
(3) T 1260
(4) T 1560

12 ¥ aret 40 ARl F e T 1680 2130 e Ayl o W, ;1 & ¢

(1) 3 945
(2) T 1080
(3) 3 1260
(4) 3 1560
Options:-

=1, Option ID :- 597,
= 2, Option ID :- 598,
= 3, Option ID :- 599,

= 4, Option ID :- 600,
Answer Given:- 1, Option ID : -597

Question ID:- 151
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In an examination 95% of the candidates passed «nd 150 failed. The number of candidates who
appeared in the examination is

(1) 2500
(2) 000
(3) 3200
(4) 3500

U g H 95 %fawmedl 39 gu qan 150 famn«dl a & ) wdan § e foad faenedt Jufeeq o 2

(1) 2500
(2) 3000
(3) 3200
(4) 3500
Options:-

=1, Option ID :- 601,
= 2, Option ID :- 602,
= 3, Option ID :- 603,

= 4, Option ID :- 604,
Answer Given:- 2, Option ID : -602

Question ID:- 152

The number of 5 cm cubes which can be cut from a cube whose edge is 20 cm is :

(1) 4

2) 16
(3) 32
(4) 64

20 con H AT ¥4 W 5 cm R ATl ¥4 S FI1E S Hohd §, 391 FET

(1) 4
(2) 16
(3) 32
(4) 64
Options:-

=1, Option ID :- 605,
= 2, Option ID :- 606,
=« 3, Option ID :- 607,

= 4, Option ID :- 608,
Answer Given:- 2, Option ID : -606

Question ID:- 153
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In a tank 2 m long, 1 m wide and 50 ¢m high, how many litres of milk can be stored ?

(1) 10
(2) 100
(3) 1,000
(4) 10,000

Ush 5% ol 2m o, 1 m e A% 50 con S &, 389 foha foiet g4 3 wahar 82

(1) 10

(2) 100

(3) 1000

(4) 10,000
Options:-

=1, Option ID :- 609,
= 2, Option ID :- 610,
= 3, Option ID :- 611,

= 4, Option ID :- 612,
Answer Given:- 2, Option ID : -610

Question ID:- 154

The sum of 21 +22+2"+  +50is:
() 1275

(2) 1200

(3) 1100

(4) 1065

21+22+23 + +50 1 AT E
(1) 1275

(2) 1200

(3) 1100

(4) 1065
Options:-

=1, Option ID :- 613,
= 2, Option ID :- 614,
= 3, Option ID :- 615,

= 4, Option ID :- 616,
Answer Given:- 4, Option ID : -616

Question ID:- 155
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It was Monday on 19th December 2022. What da it will be on 28th April 23 ?
(1) Friday

(2) Saturday
(3) Sunday
(4) Monday

19 femm=w 2022 1 FHER 91128 31U 2023 I HA 91 g7 g ?

(1)  shaR
(2) wfFEr
(3) faar
(4) HWar
Options:-

=1, Option ID :- 617,
= 2, Option ID :- 618,
= 3, Option ID :- 619,

= 4, Option ID :- 620,
Answer Given:- 1, Option ID : -617

Question ID:- 156

A liquid is to be kept in the range of 35°C to 40°C. The range in Fahrenheit scale is {It is given that,
180°C = 100(F —32)}

(1) 90°F—100°F

(2) 95°F —104°F

(3) 97°F—110°F

(4 100°F—110°F

U a7 YerY 1 35°C H 40°C o & § 1@ g | °F H uft®x & (e 7 & & 180 C =100 (F-32} ¥)
(1)  90°F - 100°F

(2) 95°F - 104°F

(3) 97°F - 110°F

(4) 100°F - 110°F

Options:-

=1, Option ID :- 621,
= 2, Option ID :- 622,
= 3, Option ID :- 623,

= 4, Option ID :- 624,
Answer Given:- 3, Option ID : -623

Question ID:- 157
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The sum of five consecutive multiples of 8 is 560. The smallest multiple is :

(1) 88
2) 96
(3) 104
(4) 128

(1) 88
(2) 96
(3) 104
(4) 128

Options:-

=1, Option ID :- 625,
= 2, Option ID :- 626,
= 3, Option ID :- 627,

= 4, Option ID :- 628,
Answer Given:- 2, Option ID : -626

Question ID:- 158

2m35anisequal to:

(1) 25m
(2) 205m
(3) 2.005 m
(4 025 m

2m5cm§m¢(%:

(1) 25m
(2) 2.05m
(3) 2.005m
(4) 0.25 m
Options:-

=1, Option ID :- 629,
= 2, Option ID :- 630,
= 3, Option ID :- 631,

= 4, Option ID :- 632,
Answer Given:- 2, Option ID : -630

Question ID:- 159
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Preeti secured 35 marks out of 40 in Mathematics and 25 Marks out of 30 in Saence

(1) Performance in Mathematics is better than in Science.

(2) Performance in Science is better than in Mathematics.
(3) Itis the same in both subjects.
(4) Data is insufficient to decide.

wifa 3 aiforg 9 40 5 | 35 37 urw fRd dw faga 9 ~0 § 9§ 25 i ww R @ A
(1) foam 4 nftg o st e

(2) oo A fagE | s fam

(3) TH H uw wH fRa

(4) T HHSl H FS He1 TGI S Fhal

Options:-

=1, Option ID :- 633,

= 2, Option ID :- 634,

= 3, Option ID :- 635,

= 4, Option ID :- 636,
Answer Given:- 3, Option ID : -635

Question ID:- 160

A Taxi charges ¥ 40 for first 2 km and X 16 per km subsequently. The fare payable for a jowrney ot

27 kmis :
(1) T 432
(2) T 440
(3) T 450
(4) T 480

T ZHT Y& 2 km = TAT T 40 fHTan oidl € 991 s9 U9Hq U fheflHlel & AT T 16 91€1 8127 kim

Fam F e ofa
(1) T 432

(2) T 40

(3) <X 450

(4) < 480
Options:-

=1, Option ID :- 637,
= 2, Option ID :- 638,
= 3, Option ID :- 639,

= 4, Option ID :- 640,
Answer Given:- 2, Option ID : -638

Subject : EVS_Q161-Q180_PRT26FEBSH1

Question ID:- 161
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Read the following statements and cheose the correct answer

A) Polyester is a natural fibre.

B) Clothes made up of polyester fibre do not get wrinkles easily.
C) Polyester remains crisp and is easy to wash.

D) Terylene is a popular polyester.

) Only (A) and (B)

2) Only (A), (B) and (C)
3) Onlv (A), ( ) and (D)
4)  Only (B), (C) and (D)

Frfafaa weEl 1 afgu siit 98t s 997 F1)
A) difTeR uh Wipfas @ ¥

B) dfAT= % HyS H JHH 4 faead 38 vedi |
C) 9ifc1 CR U @l § 3R AAEH Y S © |
D) el % Al e 3)

1) a9 (A) 3R (B)

2) HAA (A), (B) 3R (O)
3) &ad (A), (B) 3R (D)
4) Fad (8), (C) SR (D)

Options:-

=1, Option ID :- 641,
= 2, Option ID :- 642,
= 3, Option ID :- 643,

= 4, Option ID :- 644,
Answer Given:- 2, Option ID : -642

Question ID:- 162

Reason (R). Choose the orrect answer with the help of code given below :
Assertion (A) : We place our food in the refrigerator to keep it fresh.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A)is false but (R) is true.

77 of 88

Given below are two statements. One of them is labelled as Assertion (A) and the other as

Reason (R) : Low temperature of refrigerator facilitates the growth of microorganisms.
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= Q FAer fu e ¥ ) U il ifiae (A) 33 g A RO (R) et T € 1 A ST e ) wEma

q & IR H IIF HL|
AP (A) :  TH YA WTH A AT @A TAu 39 TRIsReE H W@d B |
T (R) : TR F HH AIEH Yegeral #i gfg H TIE A §

(1) (A) 3R (R) THI §& ¥, 3iX (R), (A) F T =awew w2 T
(2) (A) 3R (R) 3 F& T, WY (R), (A) FI W =@ T F4A R
(3) (A) §& & W (R) W T

(4) (A) T&d 8, 9% (R) T8 ¥

Options:-

=1, Option ID :- 645,
= 2, Option ID :- 646,
= 3, Option ID :- 647,

= 4, Option ID :- 648,
Answer Given:- 3, Option ID : -647

Question ID:- 163

Yeast is used for the production of the following :

(I) Sugar

(2) Al ohol

(3) Hpydrochloric acid

(4) Oxygen

e &1 Idm 7 % I § & g
(1)

(2) UhIE

(3) BEEEAIRER T

(4) SIS
Options:-

=1, Option ID :- 649,
= 2, Option ID :- 650,
= 3, Option ID :- 651,

= 4, Option ID :- 652,
Answer Given:- 2, Option ID : -650

Question ID:- 164
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Think about the following statements on irrigation and choose the correct answer

(A) Sprinkler system is used mainly for even land.

(B) In drip system, water falls drop by dr pp directly on the leaves of plants.

(C) Drip system is the best technique for watering fruits laden plants , gradens and trees.
(D) Drip system is not beneficial for the regions where availability of water is poor.

(1) Only (A) and (B)

(2) Only (A) and ()

(3) Only (C)

(4) Only (D)

faarE & Hau § = fou 70 oAl W fomr i 3R 98 ST 1 =99k +iE
(A) Bew@ 93 fafy = swdm geq: gada 9fa & fo fan s &)
(B) feu o= fafy & St <8 < =9 el =Y wfgal § fran &

(C) Teu a1 woregr Wil Sl wd gef Y Ul < W Faieg alE )
(D) 9l ) FHHI 91t &6 % foru fgu o fSepa w@dbg 461 2

(

(

1) Had (A) 3R (B)
2) A (A) ¥R (C)
(3) A ()
(4) SHad (D)
Options:-

=1, Option ID :- 653,
= 2, Option ID :- 654,
= 3, Option ID :- 655,

= 4, Option ID :- 656,
Answer Given:- 3, Option ID : -655

Question ID:- 165

Choose the orrect answer in the context of fertilizers :

(A) Fertilizers are chemicals which are rich in particular nutrients.

(B) Fertilizers are arbonic salts.

(C) Soil gets humus from fertilizers.

(D) Fertilizers contain plant nutrients like Nitrogen, Phosphate and Potassium in ample quantty.
(1) Only (A), (B) and (D)

(2) Only (A) and (D)

(3) Onlv (A) (B) and (C)

(4) Only (A) and (B)
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I F N H A ¥ ?
(A) 3aeh garfAeE ver 2 A fadw wigel H w95 B B |
(B) I T HIeAH% A7 T |
(C) 3d%H A fagh w1 7| T B 2|
(D) 3% 9 Uy Wwsh S fo ARIeH, wmEid qen dfeas ygea § 2 €
(1) ad (A), (B) 3 (D)
(2) FAA (A) I (D)
(3) FIG (A), (B) 3 (C)
(4) FaF (A) 3R (B)
Options:-
=1, Option ID :- 657,
= 2, Option ID :- 658,
= 3, Option ID :- 659,

= 4, Option ID :- 660,
Answer Given:- 3, Option ID : -659

Question ID:- 166

Why do plants transpire ?

(I) To increase their strength.
(2) To keep themselves cool.
(3) To keep themselves warm.
(4) To make their food.

G qredteasia = Ld © ?

(1) 39 dhd g % fer

(2) AU YR $€ WA & fau
(3) A YR TH W@ & fAu
(4) YA @A 99H H

Options:-

=1, Option ID :- 661,
= 2, Option ID :- 662,
= 3, Option ID :- 663,

= 4, Option ID :- 664,
Answer Given:- 4, Option ID : -664

Question ID:- 167

80 of 88 07-03-2023. 22:53



Response Sheet

Clayey soil is
A) Light
B) Less aerated

2) (B) and (C)
(A) and (C)

(

(

(

(1) (A)and (B)
(

(3)

(4)  Only (B)

(A) TEht
(B) R garfad

(1) (A) 3 (B)

(2) (B) 3 (C)
(3) (A)3M (O
(4) Fad (B)
Options:-

=1, Option ID :- 665,

C) Able to hold more water

g fagl &t R

(C) SR A T HHdT

= 2, Option ID :- 666,
=« 3, Option ID :- 667,

= 4, Option ID :- 668,
Answer Given:- 1, Option ID : -665

https://kvsexam26feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 168

H G B

(1) Yy g9
(2) TEEAHI
(3) HIHEPRH|

Options:-
=1, Option ID :- 669,

81 of 88

A carnivore with strips on i body moves very fast while catching its prey. It is likely to be found

in:

(1) Polar region

(2) Deserts

(3) Oceans

(4) Tropical rainforests

U Aide) WY, fogsh ok qX anfet St €, o iR Y yehed Wm wgd a0 A W 1 39 9 9

(4) IwERfeFHy auEd °

= 2, Option ID :- 670,
= 3, Option ID :- 671,
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= 4, Option ID :- 672,
Answer Given:- 1, Option ID : -669

Question ID:- 169

Choose the correct sequence

(1) Ingestion — digestion — egestion — absorption — assimilation
(2) Ingestion — digestion — assimilation — asbsorption — egestion
(3) Ingestion — digestion — absorption — assimilation — egestion
(4) Ingestion — absorption — digestion — ssimilation — egestion

H&l %A E‘[,_:' :

(1) HWEW > W — Feh — s@uun - @i
) AT — U - WiEH o @y FEREA

(3) HATEM — WEA — WY _, @WifiEHEw , FrsmEs
) AAUEW —y JFWMUN _y Y — W — R

Options:-

=1, Option ID :- 673,
= 2, Option ID :- 674,
= 3, Option ID :- 675,

= 4, Option ID :- 676,
Answer Given:- 2, Option ID : -674

Question ID:- 170

Below are two statements. Choose the correct answer from the given options :
Statement I :  All plants are autotrophs

Statement II :  All plants prepare their own foods.

(1) Statement I & II both are true.

(2) Statement I & II both are false.

(3) Statement I is true but statement II is false

(4) Statement I is false but statement II is true.

= Q1 e feu ) fu gu fased § A GE) 3 T94 B
FHYA - [ : Fl IIQY = B ©

HUA - 11 : FH1 TIST 3791 M @F T4 |

(1) oA 1 3i 11 & wdt €1

(2) HEAI RIS Tod £

(3) WA 1 {2, FA 11 Td 8

(4) A 17Ad g, o 1 |/ R |

Options:-

=1, Option ID :- 677,
= 2, Option ID :- 678,
= 3, Option ID :- 679,
= 4, Option ID :- 680,
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Answer Given:- 1, Option ID : -677

Question ID:- 171

Cold deserts of Leh are
(A) Very High in altitude from sea level
(B) Dry

(C) Slopey

(D) Flat

(1) (A) and (B)

(2 (A) (B) and (C)

(3)  (A) (B) and (D)

(4) (B)and (C)

de & 3¢ P g
(A) WHEAA H I S

(B) ¥@

(C) @AM

(D) |HaH

(1) (A) 3T (B)

(2 (A)( B)?rm( )

(3) (A), (B) 3R (D)

(4) (B)am)

Options:-

=1, Option ID :- 681,
= 2, Option ID :- 682,
= 3, Option ID :- 683,

= 4, Option ID :- 684,
Answer Given:- 2, Option ID : -682

Question ID:- 172

Which kind of plant is it that traders of Portugal brought to India from South America ? Now it is
grown all over the country ?

(1) Brinjal

(2) Mango

(3) Chilli

(4) Fenugreek

% HH-T1 T & S (A 30 A IR ST § 9RA 1 9 ) 7 AT 4N UG | SE i 7 )

(1)
(2) ™
(3) fast
(4) Aedl
Options:-
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=1, Option ID :- 685,
= 2, Option ID :- 686,
= 3, Option ID :- 687,

= 4, Option ID :- 688,
Answer Given:- 3, Option ID : -687

Question ID:- 173

Vaani, who lives in Mukhtarpur Village, has a pile of colorful threads in her house. Her home is
near to Pochampalli town. Most of the families in this town are weavers. That is why this special
weaving is called ‘Pochampalli’. This Pochampalli weaving is related to which state of India ?

(1) Tamil Nadu
(2) Kerala

(3) Telangana
(4) Karnataka

qEIR g § @ arel) anft 2 = H F1-fai url s S @ § | 399 i dgaue) £ F o ) Ag
SRR IRER 93 § | TR0 39 9918 A w9 9 ugeE S @ 1 9% dauust 68 WRd & Y

=3 4 Heiferd § ?
(1) dEeAg
(2)

(3) dEE
(4) Hdle®
Options:-

=1, Option ID :- 689,
= 2, Option ID :- 690,
= 3, Option ID :- 691,

= 4, Option ID :- 692,
Answer Given:- 3, Option ID : -691

Question ID:- 174

You are a resident of Sohna Village. Your family members coat the floor of reom by a mixture of
dung and mud every morning. Why do they do so ?

(I) Home gets prosperity.

(2) The floor of home becomes smooth.
(3)  The floor of home becomes strong.

(4) The floor of home does not get insecs.

319 Hig1 g = fHamet ¥ o ameeh 1 % 5591 IS Gag W& w9 A foaurs gt o ier &6 faeat swed
HERGIE2 Tk

() =H ggfg 3 &

(2) RF Y fasr & e ¥
(3) W Y H oS 3N St §
(4) U ES H IS TR @A |

Options:-
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=1, Option ID :- 693,
= 2, Option ID :- 694,
= 3, Option ID :- 695,

= 4, Option ID :- 696,
Answer Given:- 4, Option ID : -696

Question ID:- 175

Fill in the blanks by using the correct option :

[ have come from a Village in __. Rainfall is very scarce in our area. It is very hot too. We
live in mud houses. The roofs are made of thorny bushes.

(1) Gujarat

(2) Maharashtra
3) Chhattisgarh
(4) Rajasthan

e fashey A 6 o =1 gfd 1

H o TH S Y AT § | FAR TR A Sy HH o © iR g i vt € 178 o fug) i
T 1ed ¥ 1 od Hae AfE #1 S &t §)

(1) T

(2) Hewy

(3) BdwR

(4) ToETE

Options:-

=1, Option ID :- 697,
= 2, Option ID :- 698,
= 3, Option ID :- 699,

= 4, Option ID :- 700,
Answer Given:- 4, Option ID : -700

Question ID:- 176

Given below are two statements, one labelled as Assertion (A) and the other labelled Reason (R).
Choos the orre tanswer:

Assertion (A) : Inschools, children are encourage 1t express their feelings through various ways.
Reason (R) : This develops their abiility f creative expressions.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).

(2) (A) and (R) both are true but (R) is not the correct explanation of (A).

(3) (A)is true but (R) is false

(4) (A) is false but (R) is true.
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9 Q g fu o § ) U e (A) TR gE B O (R) Fe T ) HE ST H A HL
afireme (A) : e O 9=l o AuAT rEAedi 1 fafie 9t H = w1 % fon afa fm s )
ST (R) : $HY 1 goArcas Afealwal ) emar 1 faem g )

(1) (A) 3R (R) I T &, N (R), (A) T TE @ FA R |

(2)  (A) 3R (R) I T €, Wi (R), (A) F G oArEn T W ¥

(3) (A) W&l &, 9% (R) T4 §

(4) (A) 794 &, W (R) § 7

Options:-

=1, Option ID :- 701,

= 2, Option ID :- 702,

« 3, Option ID :- 703,

= 4, Option ID :- 704,
Answer Given:- 1, Option ID : -701

Question ID:- 177

Which among the following is different from the other ?

(1) Fish
(2) Crocodile
(3) T rtoise

(4) Monkey

Frafafad 5 4 sH T H A § 2

(1) HSel
(2) HIEHES
(3)
(4)
Options:-

=1, Option ID :- 705,
= 2, Option ID :- 706,
=« 3, Option ID :- 707,

= 4, Option ID :- 708,
Answer Given:- 4, Option ID : -708

Question ID:- 178

I enjoy the food, if I get to eat boiled tapioca with any curry made using oconut.
[ am a resident of which state of India ?

(1) Madhya Pradesh

(2) Kerala

(3) Jharkhand

(4) Chhattishgarh
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49 AR Sefl g3 fRuT |l &4 % Ty 39 g3 fushen fAe e dl @@ | | 31 S 8 | Sase H WA 6

e T @A AT ?
(1) =9 W=

(2) HA

(3) FREUE

(4) SWTR
Options:-

=1, Option ID :- 709,
= 2, Option ID :- 710,
= 3, Option ID :- 711,

= 4, Option ID :- 712,
Answer Given:- 2, Option ID : -710

Question ID:- 179

Which of the following is true in the context of microorganisms ?

(I) Microorganisms are found in marshy lands but not in the desert.

(2) Microorganisms are found in bodies of all organisms includine human beings.
(3) Microorganisms like algae cannot live alone.

(4) Microorganisms cannot live in cold environment.

freafafaa 3 4 geaeita & ey d #n H8 § 2

(1) YeASTE gFeel | 1 910 <1 § Wy 5edd H a1 |

(2) geasia o gigd Q4 Sigefl o iR & 3T it 9y I |
(3) T T GeHSa favpa Hehal A8 @ Fhd |

(4) Yeqoma €t offerfa § Sifaa 7@ & wd §)

Options:-

=1, Option ID :- 713,
= 2, Option ID :- 714,
= 3, Option ID :- 715,

= 4, Option ID :- 716,
Answer Given:- 1, Option ID : -713

Question ID:- 180

"Energy giving food’ is :
1) food containing protein

2) food ontaining fat

3) food containing carbohydrates

(
(
(
(

4) food containiing diefary fibres
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(1) WEHY® A5

(2) THHH HSH

(3) AR IH HISH

(4) SRR T b TS i
Options:-

=1, Option ID :- 717,
= 2, Option ID :- 718,

= 3, Option ID :- 719,

= 4, Option ID :- 720,

Answer Given:- 1, Option ID : -717
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